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¢ Please check that this question paper contains 1 to 16 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 34 questions.

¢ Please write down the Serial Number of the question before attempting it.

¢ 15 minutes time has been allotted to read this question paper.
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General Instructions -

[962]

All questions in both the sections are compulsory.

Marks for questions are indicated against each question.

Question no. 1-10 and 18-27 are very short answer questions carrying 1 mark
each. They are required to be answered in one sentence each.

Question no. 11-12 and 28-29 are short answer questions carrying 3 marks
each. Answer to them should normally not exceed 60 words each.

Question no. 13-15 and 30-32 are also short answer questions carrying 4
marks each. Answers to them should normally not exceed 70 words each.
Question no. 16-17 and 33-34 are long answer questions carrying 6 marks
each. Answer to them should normally not exceed 100 words each.

Answers should be brief and to the point and the above word limit should be
adhered to as far as possible.
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SECTION - A
IR FaTg | 3T a7 |ASTA 27? (1)
What is real flow?
a1 B gl BT R B | 0)

Define money supply.
afe BT refega=el &1 SUMIT Wale 39 UHR & ¢ =40 + .6 Y, @ 99d &1 AHia (1)

R &

@) 1

@ 04

(9 0.6

(@) 37 9 PR &

If consumption function of an economy is given as ¢ = 40 + .6Y, then MPS is-
(@ 1

(b) 0.4

(c) 0.6

(d) None of the above

IATET Bl Hed = bl + e (1)
@) e # uRaad

@) wemad! AT

@) siftH Wi — URMIS Lidh

(%) <H @) &R (@)

Value of output = sales + ............

(@) Change in stock

(b) Intermediate cost

(c) Closing Stock — Opening stock
(d) Both (a) and (c)
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ERATCROT Id 3 a1 AT 872

What is meant by transfer payment?
37erar/OR

AR A A FT U 87

What is meant by factor payment?

A ARTT ¥ MY FIT T &7

What is intermediate cost?

STH 9§ ®F AT UH IoiRd T 52

(3) TR @ TRIT

@ 9T S=Id

@) afeas

@ 9 @ JAEwET R &Y

Which one of these is a revenue expenditure?

(@) Purchase of shares

(b) Loans advanced

(c) Subsidies

(d) Expenditure on acquisition of land

IS O1C A 3T qRIT FHSTT 272

What do you mean by primary deficit?

frfeiRaa & & &9 A1 ARg FRIFT 6T [UTHS A8 &7
(@) d& =

@) TSR

(W) el IR ST fharg

(&) T MaegHdg

Which of the following is qualitative instrument of credit control?

(a) Bankrate

(b) Repo rate
() Open market operations
(d) Marginal requirements
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10. TEC UH SETER0 2 (1)
(&) geirr wrfat
@) rorE wrftaat
(@) ot @
() N9 g
Escheats is an example of —
(a) Capital receipts
(b) Revenue receipts
(c) Capital expenditure
(d) Revenue expenditure
11, oG JI TAT Goll T ¥ R T BN | (3)

Give the difference between revenue expenditure and capital expenditure.

12,  IrAR®A® IR (AT § HHY) BT STARIROM BT FHRN | IRBRI G 3R BRI (3)
ifr 9 = by R fear S gear 87
Explain the concept of deflationary gap (deficient demand). How it can be
controlled by government spending and taxation policy?

37erar/OR

TS 3rfraRel # ¢ = 200 + .5y STHIT Held &, S8l TR ¢ STHIT g Tof y IR
3 7 | % g 400 BRI€ X 2 | IS AT BT Feld WR AT X |

In an economy ¢ = 200 + .5y is the consumption function, where ‘c’ is the
consumption expenditure and ‘y’ is the national income. Investment
expenditure is ¥ 400 crores.

Calculate equilibrium level of national income.
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13.

14.

15.

16.

U PBIed(h ARITHD IaT8RYT BT YANT HRd gY dlfvidd oo gRT ARg fHaior
DI UlhaT DI ARYT BIFOTY |

Using a hypothetical numerical example, explain the process of credit creation

by a commercial bank.

37erar/OR

"Bl §b WRBHR B §hY Bl B BT 2 |7 U 70 pod &7 fovdr I gofF
BT |

“Central Bank acts as the banker to the government”. Elaborate the given
statement.

fopeft areferaven & foao qaa AT faer @ ifde 2| sefadwen & a9 ara
qRTdAT BT ARAT BT |

In an economy, planned saving is greater than planned investment. Explain
all the changes that will take place in the economy.

9 Qe 3fiegeRel el W 8l, fel AT 3R Gl 3MYfd g Bl HaG I A Pl

HHSG | ST9 fefegaRell A ¥ el il 8, ol Afeyavell § ol galrd 3fd 8°?
T PN |
When an economy is in equilibrium, discuss equilibrium with the help of

aggregate demand and aggregate supply curve. What changes in an
economy take place when economy is not in equilibrium?Explain.
() Fafd ) =g 98T & U8 & U9Id BT o o |

Explain the effect of depreciation of domestic currency on exports.

(1) T Age § FARIS SR W 9al & 44 9 By |

Distinguish between accommodating and autonomous items in BOP.
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17.

[962]

feferfead
(1)

sl | OIR Hed UR AL AT DI IO PHu—
o fafdy () < Ry gw
L (s TUY H)

Wi @1 3 s 400
AR BT GIATISIT 500
it eifc SudT =/ 900
faeer 9 g€ dR® 3 (-)20
G AUTE PR 100
ReR gofl &1 IwT 100

g BRe Yol Frafr 280

RERRRIN (-)30
ik 350
fopxmar 100
o7 150

RGN 3T STIRT @I 450

From the following data, calculate national income at market price by —

(1)

Income method (Il)  Expenditure method
Items (Rs. in Crores)
Mixed income of self - employed 400
Compensation of employees 500
Private final consumption expenditure 900
Net factor income from abroad (-)20
Net indirect tax 100
Consumption of fixed capital 100
Net domestic capital formation 280
Net exports (-)30
Profits 350
Rent 100
Interest 150

Government final consumption expenditure 450

Page 7 of 16

6)



18.

3UdT/OR
T FEfRad &1 IRT & I T H IS fHAT ST e SR B forw

HRT < |

@) @t difsdt @1 & 7 facia weTEar

@) fac=ii ¥ SUel wRATSl ¥ WRAI dd §RT STfoid AT

(@) SFR®T H R gaE # M HR 7 ANAR wRdEE B fear
o

Will the following be included in National Income of India? Give reasons for
your answers —

(a) Financial help given to flood victims.

(b) Profit earned by an Indian bank from its branches aboard.

(c) Salaries paid to non-resident Indians working in Indian Embassy in

America.
yrsg — q
SECTION — B
IRAR N AT & IRIBR DI &7
(@) faferaw fevat
@ . . "EreEes
(@) <TeTIE ARl
@) o ¥l <9

Who is the architect of Indian Economic Planning?
(@) William Digby

(b) P.C. Mahalanobis

(c) Dadabhai Naoroji

(d)

d) R.C. Desai
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19.

20.

21.

dgaax Affa W & feiRor & forw 3R T SYANT BT % | (1)
@ = ufdeafdd amg

@) DARI A

@) ¥ faera

@) T ¥ PIS T

The Tendulkar Committee uSesS .................... as the basis for determining
poverty.

(@) Monthly per capita income

(b) Calorie intake

(¢) Human development

(d) None of these

fr=faRad § | S IFIvT O D UH IR GRIEA EId 27 (1)
(@) wEHRI At

@ arforas §&

() WEDR

(@) e g 96

Which of the following is a Non-institutional source of rural credit?

(a) Co — operative societies

(b) Commercial banks

(c) Money lenders

(d) Regional rural banks

ARA § ST BT B =™ 7T 217 (1)
(@) 1907

(@) 1850

(@) 1853

() 1921

When was TISCO incorporated in India?

(a) 1907

(b) 1850
(c) 1853
(d) 1921
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22.

23.

24.

TRl H AR Ao BT U TSGR BTRIHH IR H 99 ¥ e fhar T
oAqT |

@) 1995

@) 1998

(9) 2000

() 2002

A National programme of mid-day meals in schools was started in India in the
year —

(A) 1995

(B) 1998

(C) 2000

(D) 2002

e oY BiIRas A ATIHT RT AR 872

What do you mean by Great leap forward?

37erar/OR

TR P &7 &7

What is cooperative farming?

Pie | 3R ®fed Il # Ry v A=faRad deml | diad &1 Aa™ &% | Sl
B T ST IAZY—

PicH | Cacull]
(A) | 35T TRI9 X8 d1el ART 1. | ATYeT T
(B) | =T U IATILADRAT & WIS 3 DI oIl By 2. | e HT
(C) | Rt @l uga™ @ fog A= aFTl &1 Mg @ ger | 3. | Shof e
B
(D) | ST &1 fafid w9 3 TR Y@ | efeR 3R aTeR I | 4. | IUf TR
g
S ——
A B CD
(A) 3 4 1
(B) 2 3 4 1
(C) 1 3 2 4
D) 1 2 3 4
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Match the column from the following statements given in column | and column

II. Choose the correct pair of the statements —

Column | Column i
(A) | People who are always poor. 1. | Relative poverty
(B) | Compare the income with the minimum | 2. | Churning poor
consumption requirement
(C) | Compare the income of different people for | 3. | Chronic poor
identifying poverty
(D) | People who regularly move in and out the | 4. | Absolute poverty
poverty line
Options -
A BCD
(A) 3 4 1 2
(B) 2 3 4 1
(C) 1 3 2 4
(D) 1 2 3 4

25.  IfApA : TR T BT IR BRd FHg gTHr &8 & U e bRl B AT

[962]

FaiRa @1 Sl 2
T &5 & @R Dl A AR Bl JoaT H 31 ARIRD 379 BT
ISl 8 |

P 3R BRI Ml Al © <lfbd HRU AT DI el ARA &

HUF R BRI ST T & olfhd BRI HUF BT A8l ARAT T8l 8

BT el 8 <ifhT PRI Toid ©

SIfB Teld & olfbT BRI T &
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Assertion : While determining the poverty line higher calorie intake is

fixed for rural area.

Reason : People in rural area have to do greater physical work as

(©)

(D)

compared to urban people
Both assertion and reason are true but the reason is the correct
explanation of assertion
Both assertion and reason are true but reason is not correct
explanation of assertion
Assertion is true but reason is false

Assertion is false but reason is true

26. fr=ferRaa swomt &1 ug : sifmed (A) iR BRYT (R) W8 Awed # & va g |

AP (A): fOfey ove @ SRM M1 &1 URURS HAal SN a1de 3R

T & IOl HUN AT SC il AHal HAe! P I B D
T #oTeR fdbarm o |

&RT (R) : AR B & dad SHIGRI YOIl @& ATEIH & $HiY BT eNyor

[962]

(A)

febam aram o |
SHl B (A) IR RO (R) 9 € AR SR (R) AMHAT (A) BT Fal
TR ¥ |
T B (A) IR BRI (R) 9 & olfhd HRUT (R) AfAHAA (A) BT A8l
TEIHRT T8l 2 |
AfFmpee (A) 94 ® oifbd dROT (R) Toid &

ANfAHA (A) TAd & dfhs SR (R) 99 &
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Read the following statements : Assertion (A) and Reason (R).

Assertion (A) : Farmers were forced to produce cash crops like cotton or jute
instead of conventional crops like rice and wheat during the

British rule.

Reason (R) : Agriculture was exploited through Zamindari system under

the colonial rule.

Alternatives :
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are true but Reason (A) is not
correct explanation of Assertion (A)
(C) Assertion (A) is true but Reason (R) is false
(D) Assertion (A) is false but Reason (R) is true
27. 3ffIREN vere Hafdd B
@) Tu IRH
(@) 9@ wR R
(7) Rarg

(&) Wl BT ST

‘Operation Flood’ is related with —
(A) Production of milk

(B) Control on flood

(C) Irrigation

(D) Production of fish

[962] Page 13 of 16
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28.

29.

30.

Tdd fapRT BT GURT BT IuF B 9 Idd [derd & forv fe=si g1 Yomifaal &f

fored |

Explain the concept of sustainable development. Write any two strategies for

sustainable development.

WA Q4 ARA B AMANYS FaT o fhal a1 Uq@ faRivdrei &1 quie & |

Discuss briefly any two salient features of India’s pre-independence

occupational structure.

37erar/OR

IRAR faell & Al Se¥d & AR W |AFC] & AT Aglg & a9d9 b
3ifacy &1 e # goie Y |
Discuss briefly the rational behind ‘equity with growth’ as planning objectives

for Indian economy?

AEg Yoll fEior &1 @ sl 87 wifde doll iR @9 goll & di= fedl o a1

T 3R SRIHAT Bl U he?

What is the meaning of human capital formation? Give any two similarity and

dissimilarity between physical capital and human capital.

[962] Page 14 of 16
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31. O, uifda IR 9RA & T SHIRI@OT Had & Seod o |

Mention the salient demographic indicators of China, Pakistan and India.

37erar/OR

YR 3R Urfhed = 319w Gefad farareas 921 & forv b e fasrawor hiferat

Bl gTe fHar 87 &l IR fd=g g1 98y |

What similar developmental strategies have India and Pakistan followed for

their respective developmental path? Explain by any four points.

32. UMV AT I MUl T AU 57 IV 6T 3 ugRg gl BT A g |

What do you mean by rural development? Bring out the key issues in rural

development.

33. anfdfd QuR (1991) ®1 URFINT &Y | 78 e Ny 31 ygrg faRIvdTe &1 W<
PN |
Define Economic Reform (1991). Explain the important features of New

Economic Policy.

[962] Page 15 of 16
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34. Define poverty? What are the causes of poverty in India?

TR BT IRIINT &Y | 9RT & [HefHdT & SR Bl e o |

37erar/OR

YRA TRGR GRT YA T YR a1 I SrispHl o1 faaaer & |

Explain important poverty alleviation programmes initiated by the government

of India?
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Higher Secondary “CBSE” On Demand Exam. December-2021
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TS IR
962
favg : arefere
Subject: ECONOMICS

Q.No. Answers Marks

1. Real flow : Real flow can be define as the flow of goods and services in

different sectors of an economy.

2. Money supply refer to the quantity of total money held by the public at a

particular point of time.

3. |(©) -4=MPS

4. | (d) Both (a) & ()

5. | Transfer payment refers to the payment which is received without giving

any factor services. ex. donation or charity

OR

5. Factor payment refers to the income made by producing units to the
household for the productive use of their factor services. ex. wage, rent,

interest.

6. Intermediate cost is cost of goods and services which are used during

production process.

7. |(c) Subsidies

8. Primary deficits — fiscal deficit — interest payment

9. (d) margin requirements

10. | (b) revenue receipts

[962] Page 1 of 7




11.

Revenue expenditure

Capital expenditure

Those monetary expenditure of
govt. which neither reduce a
liability nor creates any assets
for the govt.

Those monetary expenditure true
of govt. which reduce liability or
creates any assets for the govt.

They are regular & recurring in

nature.

They are irregular & non-

recurring in nature.

Example salaries and wages of
govt. expenditure on

administration defence.

Expenditure on construction of

school building, hospital, road.

12. | Deflationary gap — The gap showing deficient of current aggregate
demand over aggregate supply at the level of full as employment -
Increase public expenditure
Reduce taxation
AS
B AD,
ﬁ/ AD
A
45°
Yi y
OR
12. | At equilibrium level
AD = AS
Y = C + | putting the value
Y =200 + .5Y + 400
Y - .5Y =600
Y= 6% = 1200 crores
[962] Page 2 of 7




13. | Credit creation is the process by which bank creates money which is for
excess than its initial deposits. Credit creation by the banks is determined
by (i) The amount of initial deposits (ii) Legal reserve ratio (iii) It is assumed
that all the money that goes out of banks is redeposit into the banks.
M.M=—  LRR=20%

MM=—=22=5
Total money = Initial deposit x M.M
1000 x 5 = 5000
Round | Initial | Loan | LRR
1 1000 | 800 | 200
2 800 1| 160
Total | 5000 | 4000 | 1000
OR

13. | Acts as banker to the govt. — (1) It accepts the deposits of the govt. (2)
Makes payment (3) Give financial advice (4) Advances Loan in the crisis
times (5) Remit the surplus funds of govt. (6) Purchase & sell of govt.
securities an its behalf.

14. | When planned saving is greater than |, unsold stock of production in the
economy is increasing therefore producer in the economy will reduce their
production process will continue till S is equal S is equal to I.

15. | When AD is equal to AS then economy will be in equilibrium. When

[962]

economy not in equilibrium the adjustment is came from AS. When AD >
AS then producers enhance the supply in neat session. AD < AS then

producers decrease the AS in the neat session to get the equilibrium.
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16. | (I) Depreciation of domestic currency value of domestic currency fall the
domestic goods will become cheaper for foreigners this will leads to
increase exports of domestic goods.

(1)  Write any three differences.
17. | NNPwp = coe + os + mixed incomes + NIT + NFIA
500 + 100 + 150 + 350 + 400 + 100 + C7200
1580 crores
NNPwp = PFCE + GFCE + NDCF + Net exports — CFC + NFIA
900 + 450 + 280 + 30 + - 100 + (-) 20 = 1580 Cro.
OR
17. | No, transfer payments
Yes, factor income from abroad
No, non — resident of India
SECTION-B

18. | (b) P.C.Mahalnobis

19. | (A) Monthly per capita income

20. | (c) Money lenders

21. | (a) 1907

22. |(a) 1995

23. | Create leap forward was a campaign initiated in 1958 in China. The aims

of this campaign are 1. To initiate large scale industrialization in country.
2. The people in urban areas were motivated to setup industries in their
backyards. 3. Commune system was implemented.

OR

23. | Cooperative farming is the farming where farmers pool their resources in

certain areas of activity.

24. | (A)

[962]
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25.

(B)

26.

(A)

27.

(A) Production of milk

28.

Sustainable development — Sustainable development is that development
meet the needs on the present generation without compromising the
ability of the future generation to meet their own needs.

The strategies for sustainable development are —

(i)  Use of non-conventional sources of energy
(i)  Bio-composting

(iii)  Bio pest control

(

iv) Use of traditional knowledge

29.

Occupation structure is the distribution of labour force in three main
sectors of the economy —

(a) Primary sector
(b) Secondary sector
(c) Territory sector

(

Explanation required)

OR

29.

Equity with growth — Equity refers to an equitable distribution of UDP.
Growth refers to the increase in UDP over a long period of time. The
benefits due to higher economic growth are shared by all section of
population growth itself does not guarantee the welfare of people. Hence

growth with equity is a national and desirable objective of planning.

30.

[962]

Meaning of human capital formation — It refers to development of abilities
and skills among the people two similarity and two dissimilarity.

(Explanation is required)
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31.

Demographic indicators —

(1) Density of population — Data is required
(2) Growth rate of population

(3) Sex ratio & urbanization

(Explanation is required)

OR

31.

Developmental strategies — India & Pakistan
(1) Both have mixed economy
(2) Planning & economic reforms

(Explanation is required)

32.

Rural development — It refers to continuous and comprehensive socio —
economic process, attempting to improve all aspect of rural life. key issues
in rural development.

(Explanation is required)

33.

[962]

Economic reform (1991) — Economic reforms refers to the fundamental
changes that were launches in 1991 with the plan of liberalising the
economy and quickening it rate.

Features are —

(1) Privatisation

(2) Liberalisation

(3) Gilobalisation

(Explanation is required)
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34. | Poverty — poverty when people lack the means to satisfy their basic needs
i.e. food, shelter, clothing, education, health.
Causes of poverty in India —
(1) Population explosion
(2) Low level of economic development
(3) Agriculture backwardness
(4) High illiteracy rate
(5) High inflation
(6) Income inequalities
OR
34. | Poverty Alleviation programmes initiated by the government of India.

[962]

There are two types of poverty alleviation —
(a) Self employment programmes
(1) Rural employment generation prog
(2) Prime minister rozgar yojana (PMRY)
(3) SJSRY
(4) SGSY
(b) Wage employment prog.
(1) Sampoorna Grameena Rozgar Yojana (SGRY)
(2) National Food For Work Programme (NFFWP)
(Brief explanation is required)
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¢ 15 minutes time has been allotted to read this question paper. During this period
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book.
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G 33T —

fFrferRea el &1 9gd AEgr 9 ufey &R I9dT Tl 4§ UTeld HIfTY —

(@) AU — UF H QAT — & QAT @ & | ISP AN A & | 99 ‘& & 24 3id
qAT AT G & 56 3P ¢ |

(b) WFT — & # RIS T TAT 9T — @ H o v 2

(c) TFIYFT & Td @ ¥ 3fdRe e faw 7y &

T — & @ (GRS ue)

) sEYHS Evs — larll 2

iy @S — 1 H 16 A g IR ISR & U ©, A 5 w1 # fdaed faw v 2
TS T 1 3B FT 7|

(i) @vs — Il § 2 fIaR0T T2 FF YR & U 2| IS H 5 IgfAhedly Ued © O 4
B B © | UD Jgladbedid U 1 3P Bl 2 |

AT — § : (ARomee 999)

(i) sF 9 H = @S — L IVaen V g

(i) w@vs — Il # 10 g2 & RN UAS 2 3 &7 T |
(i) @vs — IV H 7 g & R Ua & 3 3k 2|
(
(

iv) @oe — V # 3 7 € R UdF @ 5 8id T
v) @vs — Il 9§ 3yl | @vs — IV H 2 gl § g @vs — V H 3 Ul H IfdRe
fame fav v & | v It et # 9 B AT g e 2 |

General Instructions —

[963]

Read the following instructions very carefully and strictly follow them —

(@) This Question paper contains two parts A and B. Each part is compulsory.
Part A carries 24 marks and Part B carries 56 marks.

(b) Part — A has Objective Type Questions and Part — B has Descriptive Type
Questions.

(c) Both Part A and Part B have internal choices.

Part — A : (Objective Type Questions)

(i) It consists of two sections — | and II.

(i)  Section | comprises of 16 very short answer type questions.

(iii) Section Il contains 2 case studies. Each comprising of 5 MCQs. An examinee
is to attempt any 4 out of 5 MCQs.Each MCQ is of 1 mark.

Part — B : (Descriptive Type Questions)

(i) It consists of three sections —1ll, IV and V.

(i)  Section lll comprises of 10 questions of 2 marks each.

(iiiy Section IV comprises of 7 questions of 3 marks each.

(iv

(v) Internal choice is provided in 3 questions of Section — IIl, 2 questions of Section
IV and 3 questions of Section — V. You have to attempt only one of the

alternatives in all such questions.

)
iv) Section V comprises of 3 questions of 5 marks each.
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[963]

YT — v/ PART-A

Yvs — |/ SECTION -1

TS G=IT 1 ¥ 16 b UAP U 1 3ih T & —

Question number 1 to 16 carry 1 mark each —

xzﬁrwaﬁaﬁmﬁAz[g:i ﬂwaogc;bw‘\mwags%l (1)
Find the value of x, if A = [6 :z ﬂ is singular matrix.

a+b 271_16 2 (1)
(@) aﬁ[ : ab]—S 8],ﬁa3ﬁ?bﬁﬁﬁ§lﬁaﬁml

a+b 271_76 2 :
If [ c ab] = [5 8]’ then find the value of a and b.

a1/ OR
1 2 x 1 -2 vy
(b) IR A=[0 1 Osﬁ'\’Bz[O 1 OISﬁ’\’AB=I3,ﬂTs[x+y?b‘rHW§Iﬁ
0 0 1 0 0 1
HITOTY |
1 2 x 1 -2 vy
fA=(0 1 0] and Bz[O 1 0] and AB = I3, then find the value
0 0 1 0 0 1
of X +y.
gz A = {1, 2, 3} W uR9INT Fa ST U JoadT Fae forfey | (1)
Write the largest equivalence relation on set A = {1, 2, 3}
(a) ST DI - f(%+5x4)dx (1)
Find : J(Z+5x*)dx
a1/ OR
(b) %W: fCOSZX+ZZSin2XdX
Cos“ X
. . cos 2x + 2sin? x
Find : ITdX
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[963]

(a) Wfee 51—7+ 2k & sfewr U VT Afewr S1d HINTY ST aRAmT 8
gDTS ¢ |

Find a vector in the direction of the vector 5i —j+ 2k which has

magnitude 8 units.
sigrar/ OR
(b) wfewr 3=2+ 3]+ 2k &1 @few b =1+ 2j + k ) w8 s AR
Find the projection of 3 = 21+ 3j+ 2k onb =1+ 2j + k.
a1 |feel 3 3R b &7 aRATT HH: 1 R 2 ® qoT A.b = 1, 39 WfRkw & 9=
BT DIOT ST DI |

The magnitude of two vectors 3 and b are 1 and 2 respectively and a.b = 1,

find the angle between them.

If AT A H 4 I79Ud TAT WA B H 5 IqUd § IR B : A > B ¥

R 8, AT A ¥ B O% Tabdh! U= &l FRT A1 iy |

If set A has 4 elements and set B has 5 elements and the function is defined

from f: A — B, then find the number of one — one functions from set A to set

B.

(a) I FFzag A=1{0,1,2,3}dAT A # Hag R Fr=IfeiRad yR | alR¥Tia
2 R={(0,0), (0, 1), (0, 3), (1, 0), (1, 1), (2, 2), (3, 0), (3, 3)}, FT R e,
FAMAT, HhHD B2
If set A={0, 1, 2,3} and R is a relation defined in a set A such that R
={(0, 0), (0, 1), (0, 3), (1, 0), (1, 1), (2, 2), (3, 0), (3, 3)}, is R reflexive,

symmetric or transitive?
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grerar/ OR

(b) I Tz A={x:0<x<14}H a8 R={(a, b) :a-b, 2 | 9T 7} TaART

aR9IYT Th JourdT Heae &, a1 4 qwed |l agdl & dgead =i
PITY |

If Ronthe set A={x:0<x<14}, given by R ={(a, b) : a-b is divisible
by 2} is an equivalence relation defined in set A, then find the set of all

elements related to 1

9. U%Az(l) é],?ﬁAZzﬁrﬂﬁaﬁaﬁﬁm

0 1

If A= 1 0

], then find the value of A2.

0 (@) e e (2) + (L) 45y =6 @ PR @ aw @1 A

dx2 dx
HIFTY |

Find the sum of the order and degree of the differential equation
dzy 3 dy 2 -
(52) + (&) +sv=6

grerar/OR

(b) SWWW%= (eX + 1)y BT AUD B ST DIFTY |
Find the general solution of differential equation :% = (e*+ 1)y.
1. W%WWWHX)=X4—%‘SW%|

3
Find the interval in which the function f(x) = x* — % is increasing.
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12.

13.

14.

15.

16.

[963]

feer (2147 — k) x (1— 2§+ 2k) @1 aREMT 91 HIFSY

Find the magnitude of vector (21 +§ — k) x (1 — 2j + 2k).

AT BT FAIBROT ST DI Sl fa=g (0, 1, -2) A [oRdl & 3R |HAAA
2X —3y + 4z =0 B FHMIKR B |

Find the equation of the plane passing through a point (0, 1, -2) and parallel

to the plane 2x — 3y + 4z = 0.

afe AT 2x + my — 3z = 0 3R FAGA mx — 3y + z =5 Tdd &I, @ m BT A
ST DI |

If plane 2x + my — 3z = 0 is perpendicular to the plane mx — 3y + z = 5, then

find the value of m.

AT f6 A 3R B Q1 Wdd UeAN $9 UBR © f& P(A) = 0.4, P(B) = p 3iR
P(AUB)=0.7, p & A1 A4 $IvY 5¥Fa g A iR B @04 & |

Let A and B be two independent events such that P(A) = 0.4, P(B) = p and
P(A u B) = 0.7. Find the value of ‘p’ for which A and B are independent.

TH U B Bahd R Al aRvm v ww e g @ 59 3T B @)
TTfedr @ 27

A dice is rolled. If the outcome is an odd number, what is the probability that

it is prime?
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Yus — Il / SECTION - I
Q1 faaRoT e ue (17 *iR 18) Al €| yea A 17 iR 18 H A5 H &
DIg 4 SU—ATT B DY | TAD STI—HFT 1 3P T 3 |

Both the case study based questions (17 & 18) are compulsory.

Attempt any 4 subparts out of 5 from each of question number 17 and
18. Each subpart carries 1 mark.
17.  Tagure & aipfas fafdfeRl o forg fagarer waq | 6T anfdbcae gamn

Uh IYNTR BT URT §9R-T AT 8| FUNTR BT B 3MHR H JFABR & 3R
a0 Uh Af¥ad aRfr p 21

An architecture designed an auditorium for a school for its cultural activities.

The floor of the auditorium is rectangular in shape and has a fixed perimeter

p.

Based on the above information, give the answers of the following questions:
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(i)

afg x 3R y IFATHER &3 & <dqrs 3R derE &1 ufafafea o= €, ar
IR & dr9 G T —

(A) x+y=p (B) x%+y?=p?

(C) 2(x+y)=p (D) x+2y=p

If x and y represents the length and breadth of the rectangular region,
then relation between the variable is —

(A) x+y=p (B) X2 +y?=p?
(C) 2(x+y)=p (D) x+2y=p
X D Bold & ®U H AMAABR &5 BT &9%cl (A) 39 ISR Add fhar ST
HHAT & —
(A) A=px+X (B) A=22X
px —2x? x? 2
(C) AzT (D) A=7+px
Area (A) of a rectangular field can be expressed as a function of x as —
(A) A=px+X (B) A=PEX
px —2x? x? 2
(C) AzT (D) A=7+px

ey & udad I ‘A’ © &3 B AfHad e # i @d €, U4 8
& forw x &1 A9 B ARy —

(A) p (B) p/2

(C) pi3 (D) p/4

School’'s manager is interested in maximising the area of floor ‘A’ for
this to happen, the value of x should be —

(A) p (B) p/2
(C) pf3 (D) pl/4
y &1 a8 A e g wef &1 aawd iffead § —
(A) p/2 (B) p/3
(C) p/4 (D) p/16
The value of ‘y’, for which the area of floor is maximum is —
(A) p/2 (B) p/3
(C) p/4 (D) p/16
Page 8 of 16
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18.

[963]

N
N

A = B) =
2 2

© = D) Z

Maximum area of the floor is —

A E B
16 64
2 p?

(C) = (D)
T HIfas YRR wieqor a1 fygaa=rar fFrar e o 1§ € -
DIfdS aret AN § A, 90% URIET0T dHRT BT Ul ¥ T € cifb 10% bl Tal e
Tl Ul & | BIfds A o Al H A, 99% URIET0T Bl PIfds Tfea AFT SN &,
Al 1% @1 Bifds diferied fewrd gy e fbar Sirar & | g g1 amare o 4
B 0.1% ¥ B DIfdS 2, TP Afdd BT AIgleed wY A AT oIl 8, o DIfds
TRATeR wieror e e &, SR GeieifoRe S @ifds difvifea & wu # Rurd

BT B |

N
[ee]

SWRIGd SFGRI & MR W, freferRaad vl @ TR AT
The reliability of a COVID PCR test is specified as follows —

Of people having COVID, 90% of the test detects the disease but 10% goes
undetected. Of people free of COVID, 90% of the test is judged COVID
negative but 1% are diagnosed as showing COVID positive. From a large
population of which only 0.1% have COVID, one person is selected at
random, given the COVID PCR test, and the pathologist reports him/her as
COVID positive.

Based on the above information, answer the following:
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(i)

(iv)

afdd @ difds difvifcd & ©9 H TeT fhy S & FHE-T RT 8, I8
<@d gy & aafad &1 arda ¥ sifae 87

(A) 0.001 (B) 0.1

(C) 0.8 (D) 0.9

What is the probability of the ‘person to be tested as COVID positive’
given that he is actually having COVID?

(A) 0.001 (B) 0.1

(C) 0.8 (D) 0.9

Ifed & pifds diNifed & ®T § W fby I™ & FIEET /T 8, I8
<@d gY & 'SH arad # difas & 27

(A) 0.01 (B) 0.99

(C) 0.1 (D) 0.001

What is the probability of the ‘person to be tested as COVID positive’
given that he is actually not having COVID?

(A) 0.01 (B) 0.99

(C) 0.1 (D) 0.001

SIdT |7 YTRIeAr © f =fdd &7 ardd & difds F8i 27

(A) 0.998 (B) 0.999

(C) 0.001 (D) 0.111

What is the probability that the ‘person is actually not having COVID’?
(A) 0.998 (B) 0.999

(C) 0.001 (D) 0.111

9 919 @1 91 W¥iear & f6 @fdd &1 ada 3§ difde &, I8 <@d gy &
BT DIfgs difsred & wu § g foar a7 277

(A) 0.83 (B) 0.0803

(C) 0.083 (D) 0.089

What is the probability that the ‘person is actually having COVID given
that he is tested as COVID positive’?

(A) 0.83 (B) 0.0803

(C) 0.083 (D) 0.089

39 919 B &1 gRiedr © & aafad afad &1 wifde uifsifed & wq o
e foham S

(A) 0.1089 (B) 0.01089

(C) 0.0189 (D) 0.189

What is the probability that the ‘person selected will be diagnosed as
COVID positive’'?

(A) 0.1089 (B) 0.01089

(C) 0.0189 (D) 0.189
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19.

20.

21.

22.

[963]

YT — ¥/ PART-B

gus — il / SECTION — il

U G 19 ¥ 28 TP YD Y 2 b bl & —

Question numbers 19 to 28 carry 2 marks each -

g BV —  sin™! (—Sinszcosx) ) —z <x< E @)

Simplify — sin~? (%) —I<x<E

gREs @R X BT WGl ded P(X) 39 UBR & b — (2)
X 0 1 2 otherwise

PX) |k |2k |3k |0

k Q2T P(X >1) BT A 1A HIFTT |

The random variable X has a probability distribution P(X) is given by —

X 0 1 2 otherwise

PX) |k |2k |3k |oO

Determine the value of k and P(X >1)
gy BINTY @1 U& fawd — A g & 97 fddol R ¥4 d@ g 8 & | @
Prove that all the elements on the main diagonal of a skew — symmetric

matrix are all zero.

(@) k &1 AF Ma Sy s forg Fr=ferRad ee x =3 R |9dd § —

%0 X#3
f(x) = {x—3 ’
k, x=3 )

(a) Determine the value of k for which the following function is continuous

atx=3
x%2-9
f(x)={;’ X #3
k, x=
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23.

24.

25.

26.

27.

[963]

grerar/ OR

B f(x) = {X_l'ifx<2 B FABATIAT & x = 2 W Sira BT |

2Xx—3,x =22
. N . x—1,ifx<?2
Check the differentiability of the function f(x) = {ZX 3 x>2 atx =2.
N e2X(1+sin 2x) (2)
=M ’ f (1+cos 2x) dx
. . e2¥(1+sin 2x)
Find : fde
. r2logx (2)
A ST DIV « [ —-dx
X
. 2 logx
Evaluate : J; = dx
AT / OR
. T sinx
A A BIoTY .foz oo dx
Evaluate : 7 X
1+cos“Xx
. dy _1wy? ()
3qehel THIDRUT Bl BINTY & 2
2
Solve the differential equation : &£ = X
dx 1+x
afe 3,b,¢ SHS AT & O fF 3+b+ =0, 3b+bi+ ¢a BT A9
BT | (2)

-

If 3,b, ¢ are the unit vectors such that @+ b + &= 0, find the

value of b +bé + .

U FHMIOR ISl BT &tbel STd HINTY e e goid dfeer 14 2 + 3k

3R 31— 2f+k gart FEilRa €| @)

Find the area of the parallelogram determined by the vectors 1 + 2j + 3k and

31— 2j + k.
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28. (@) 9B x2=y3AR W y=x A TR &5 & a9hd FHHa A &1 uarT

PP ST I @)
Using integration, find the area bounded by the curve x2 = y and the
liney = x.
3rerar/ OR
(b) HHTGET A &1 ITANT B U, x =0 3R x =2n & 7 y = sinx
H foR &3 &1 &%l S HIToT |

Using integration, find the area bounded by y = sinx between x = 0

and x = 2.

gvs — IV / SECTION - IV

U G 29 ¥ 35 TP YD Y 3 b bl & —

Question numbers 29 to 35 carry 3 marks each —
29. HAM WA =R-{2} 3R B=R—{1}, I f: A - B wfafemvr garr aRwifdg

Wf(x)=%§,ﬂ§f3?ﬁ3§’ﬁ7f@3%3ﬁ?m%‘l )

x—1
x—2

LetA=R-{2}and B=R —{1}, if : A > B is a mapping defined by f(x) =
show that f is one — one and onto.
30.  (a) IR e+ e¥=e, Rigy HIRMY % = —eVX (3)

. d _
if e + e¥ = e, prove that d—z = —eV X

AT / OR
(b) &R logy/x? + y? =tan™'Z I Riqy IfdY %:ﬂ

x=y
If log\/x2 + y2 =tan?! %, prove that % = z:—i
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31.

32.

33.

34.

35.

36.

[963]

@ Tb y=x+2x+6 B S AN D THDROT T HINTT S @
X+14y +4=0 B TR ¢ |

Find the equations of normal to the curve y = x® + 2x + 6, which are
parallel to the line x + 14y + 4 =0

3rerar/ OR
(b) SR FA DI RNFH T f(x) = x3 + 5x2 — 1 TEHM 3fqA] gRIAM

=

Determine the intervals in which the function f(x) = x3 + 5x2 — 1 is
increasing or decreasing.

Jqhd FHIBRT Bl DIy : ydx + xlog (i) dy — 2xdy = 0
Solve the differential equation : ydx + xlog (g) dy —2xdy = 0

- 2
Jfq y = edcos X _1<x<1,dl gued (l—xz)u—xg—a2y=0

dx?2

— pacosTlx _ ) ﬂ_ dy - —
Ify=e ,—1 < x <1, then show that (1 x)dxz X a‘y=0

dx
A ST BRI ;[ XanX  gx

secx+tanx

xtanx

Evaluate : [

secx+tanx

FHIH T BT SUIRT B U G X2 + y2 = 16 I R &5 BT &%l S HIfo |
Using integration, find the area bounded by the circle x? + y2 = 16.

gus — V/ SECTION-V

Ue U 36 ¥ 38 TP YD U 5 3P BT § —

Question nhumbers 36 to 38 carry 5 marks each —

(a) O (8,2, 1)W A 2x—y+2z+1=0W TP Y UE & e v
TR I ST DI |

Find the coordinates of the foot of the perpendicular and the
perpendicular distance of the point (3, 2, 1) from the

plane2x-y+z+1=0
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37.

[963]

grerar/ OR

NIERY g X+3 _y-1_ 205 x+1_y-2_ 275 gy @
ﬁaw—s_1_5’—1_z_5w gl
9 G137 BT FHASTT B dTel FHIT BT FHIART ) 31 PR |
Show that the lines X2 =¥t =22, X*1 Y22 _ 225 416 coplanar.
-3 1 5 -1 2 5
Also find the equation of the plane containing the lines.
4 1 3
I A=12 1 1[,A F@ HRQI AT BT YR dRD  [AfIRad
3 1 =2
THIHRT BT BT B DISTI—
4x +2y +3z2=2
X+y+z=1
3X+y—-2z=5
4 1 3
If A=]2 1 1|, findA™
3 1 =2
Hence, solve the following system of equations —
4x +2y +3z2=2
X+y+z=1
3X+y—-2z=5
AT / OR
—4 4 4
AB &T V%A ST dIfoy, 5l A= |—-7 1 3]3ﬁ?
5 -3 -1
1 -1 1
1 —2 —2| 3R s9®T WA oxe FrferlRad AHIERoT e BT 8 HIfvTg—
2 1 3

X=yY+z=4, x-2y—-2z=9, 2x+y+3z=1
-4 4 4 1 -1 1
-7 1 3 ] and B = [1 -2 —2]

5 -3 -1 2 1 3

Find the product AB, where A =

and use it to solve the equations
X—yY+z=4, x-2y—-2z=9, 2x+y+3z=1
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38. medy fafy gR1 = WRadw U TR BT g BIfg —
IR X +2y <120, X +y 260, x—2y >0, X,y >0 & AT Z = 5x + 10y &I (5)
HTABTHIDROT HITTY |
Solve the following linear programming problem graphically —

Maximise Z = 5x + 10y, Subject to constraints x + 2y < 120,x + y > 60,
x—2y>0,and x,y>0

3erar/ OR
e ffyy grT =1 R TR TR B g SR —
IR X +2y >3, X+2y>6,X,y >0 AT Z=x+ 2y BT FATAIBRT
P |
Solve the following linear programming problem graphically —

Minimize Z = x + 2y, Subject to constraints X + 2y >3, x + 2y 26, X,y >0
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H YOI DI A=A : 09
Higher Secondary “CBSE” On Demand Exam. December-2021
TRR AHUSY UNIET Hdeas’ 39 fSAvS Ao, famaR—2021 (o 3awR)
3eel IR
963
faw : w1fora
Subject: MATHEMATICS

Q. No. PART — A (SECTION — 1)
1 x= 2 . 1
2 (@Ja=2 , b=4
1
OR
| (b)X+y=0 ,
3 R={(1,1), (2,2), (3,3) ,(1,2),(2,1), (2,3),(3,2), (1,3),(3,1) } 1
& (@)3fx 2dx+5[x*dx =6Vx +x°+c
1
OR
(b) Tanx+c
y 8 (si—j+2K)
R L —
V30 ’
1
OR
10 5
& Ve
6 5 1
3
7 51= 120 1
(a) R is reflexive, symmetric but not transitive
OR
(b){1,3,5,7,9,11,13}
9 > [0 17710 13_711 071_ 1
a 1 0”1 0 _[0 1]"
10 (@)2+3 =5
OR ,
dy x
») f—y— = [(e* +1)dx
logy= e*+x+c
11 [1,00) 1
12 5vV2 1
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. 2x-3y+4z=-11 1
14 m=-3
15 p =12
16 2/3
PART- A ( SECTION- Il)
17(i) C)2(x+y ) = p 1
17(ii) Area A= xy = X220 1
—2 x2
CypA=2T et
17(ii) | D) p/4 1
17(iv) | C) pl4 1
170) | p? 1
16
18(i) (D) 0.9
18(ii) A) 0.01
18(iii) (B) 0.999
18(v) | (C) 0.083
18(v) (B) 0.01089
PART -B (SECTION -liI)
19 . _,,Sinx + cosx
sin™" (
V2
= sin~1 (i sinx + icosx)= sin~! (coszsinx + sinEcosx) % +1/2
Np) V2 4 4 !
=gin=! {sin (x + E)} =W — Gl
4 4
20 k+2k+3k= 1 %
6k =1 k=1/6 %
P(X=1) = 2k + 3k = 5k = 5/6 Yet112
21 let A =[a;;] be a skew — symmetric matrix, then,
a;; = —Q;; = Q= -y Y%a+1/2
20’.&:0 = a;i = 0 y,
=011 =0y =0A33 =" =0apy =0 %
22 (a)Since f(x) is continuous at x= 3

[963]c-12
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l’mx—.s f(x) f(?’) = hmx—l3 f(x)
-9 o (x=-3)(x+ 3)
= lim =k = lim—————
x—3 X — x—3 x—3
=>k=6

OR
(b)(LHD at x=2) = 1imw s
(RHD at x= 2)= = 12+ M 5
= LHD # RHD

23

e2X(1+sin2x e2X(1+sin2x
J‘ ( ) x:J' ( )d

(1+cos2x) 2cos?x

1
=5 fez"(zseczx + tanx)dx= % e* tanx + ¢

24

( )| J-2 logx i
= 100 () -f2 (2) (1)

X

I= Y2(-log2 +loge) = % log(e/2)

OR

m/2 sinx

(b)I= f 1+cos?x
put cosx = t = sinx dx = —dt
x:0=>t:1andx:% =>2t=0

N - -1.90_
[= [ o = 1= -[tan” 3

1+1

25

1+y?  1+x2

integrating both sides gives
tan~ly = tan~1x + tan"1c
= y-x =c(1+xy)

26

— 2 — - 37 T o - =
@-+b+¢| =ar + 5| +1eP+2@ b+ be+Ea)

~1+1+142db+ bé+2d)=0
¢a

>db+ bc+cd)=-3/2

27

aXb=[1 2 3

= 8i +8j-8k
3 -2 1 '

[963]c-12
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~ area of the parallelogram = |5 X b|=v’64 +64+64 =83 sq. units

28 (a) Area A = fﬂl(yz - y,)dx 1
= fnl(x—xz)dx= 1/6 sq. units 1
OR
2 2 1
14 m m
(b) Area A= [yl (;lx = [yyde+ [ -ydx 1
=f(;rs£nx dx + fnﬁ—sinx dx = 2+2= 4 sq. units
SECTION-IV
29 Injectivity : let x,y be any two elements of set A. then
-1 -1 . . i ) ‘ v,
fix) = fly) = “z:“é‘ = i*jz' gives x=y on simplification, hence f(x) is one- b
one ‘
. . . . i x_‘l _
Surjectivity : let f(x) =y = "= =y 5
syx=12 1
1-y
= itis onto
30 (a) |e¥tel=e"e (i)equation
D.w.r.tox 1
e*t+ery =e e’ + eXely
y (7 —e*e?) = e*e? — & 1
dy e'+el-et o ’
ey using (i) equation } 1
¥
—_ —_ -X
=-== —eY
OR
(b) lIog(x2 +7y?) =tan™! (Z) 1
2 | X
. (Y 1
12x+2yy") "2
2112) N 2
2 (x2+y?) (1 +y_2)
X
x+yy' =xy' -y
-x)y'=-(+x) 1
dy y+x)
—_— = 4
dx  (x-y)
[963]0-12 Page 4 of 9




31 (a) |=x3+2x+6
dy _,
E =3x“+2 1
slope of given line = =4
' 11
To3x2+2 14
x= +2
Ifx=+2,y=18
1
~ Eqof normaly —18 = —ﬁ(x -2)
~x+ 14y = 254
fx=-2,y=-6
~ Eqof normalx +14y +86 =10
OR
(b) D.w.r.tox
f(x) =3x%+10x
iff.(x)=0 =3x2+10x =0
10
= x = Oor — 3
+ve . -ve +ve
-10/3 b
Intervals Nature of f'(x) Nature of f
[_00 _1_0] fl(x)=0 Increasing
* 3
- ] flx) =0 Decreasing
—?.0
[0, 0) ffx)=0 Increasing
32 d Y
4 x i
= — equation (i)
dx - Y
2 logd(x) .
L . .
Let;—v = N v+xdx
from equation (i)
+ dv v
A (2 —=logv)
logv —2 dx
J--——-——u-—d'u = -
v(logv —1)
togv—1) 1 (%
v@ogv—1) (ogv-1) ] x
log|v| —log|logv — 1| = —log|x| + ¢
Y
IOg ——Z——-——,x =
log (%) -1

[ T




d
33 Ji—x2 2= _qy 14172
dx o . 1+1/2
againdiff.w.r. t x (l—xz)—&fzi— xd—i—azy:
Fid
34 - f (7 — x) tan(wr — x) 1
) sec(mr — x) + tan(wr — x)
0 m
z 1
sinx
21 =21 | ———dx
1+sinx
. Ko 1
I=m ('i - 1)
35 for correct diagram 1
Required area = 4fu4y dx =4 f:\a'lﬁ —x2 dx 1
for correct solution and answer = 16m sq. units 1
SECTION -V
36 (a) Equation of perpendicular to the plane 5——2_—3 = 21213 =1 ; 1=y 1
Pointx = 2t + 3 1
y=—t+2
z= t+1
1
The point will lie in the plane
=2202t+3)- (—t+2)+ t+1)+1=0
= t= -1 !
= foot of perp.= (1,3,0)
distance = V6 1
OR
(b) Given lines are .
. 1
X+3 yvek TR
-3 1 5%
x+l _y-2 z-5
-1 2 5
If the lines are coplanar then
1+1
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=3+1 1-2 5-5
-3 1 5 =0
-1 2 5

=10-10=0,rrue

Hence the lines are coplanar.

Equation of the plane containing the lines is

— . 1+1
x+3 y—-1 z-35
-3 1 5 (=0
-1 2 5
= (x+3)(-5)-(y-1)(-10)+(z-5)(-5)=0
= x—2y+z =0is the required equation to the plane
37 i -3 5 -2
(a)A"=—§ 7 -17 2
-1 -1 2
X=@MhHB
1[-3 7 -1J2
= —5[5 -17 —1] 1]
-2 2 2115
x= B AW -2.0=
OR
—4 4 4P =141
(b)AB=[—7 1 o8 [1 -2 =Z2[=8 i
5 -3 -1l 12 1 3
1 -1 1] 4 1
[1 —2,-2 [y]= 9
2 1 31tz 1]
BX=C = X=B~I(C
. -1_ 1
AB=8] = B '= 8A y
[t 4 4
=§[_7 L ot 172
5 -3 -1
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The maximum value of Z is 600 at all the points on the line segment joining (120, 0) and
(60, 30).

OR |
(b) The feasible region determined by the constraints, X +2y >3,X+2y >6, X >0, and

Y 20, is as follows.

X i -4 4 47714
[J’] ==1-7 1 3119 112
z 5 -3 -1l11
X 3
zl -1 1
x=3 y=-2 z=-1
38 (a) Maximise Z = 5X + 10y
The feasible region determined by the constraints, X + 2y <120, X +y 260, X -2y >0, X =0,
and y 20, is as follows.
* \"f
il :
SU;
il 150, 30) L
Eu% ) 3
;m (60, 0 (126,03
N ‘/ 4 i 4 i {Jl 1] i I’ 4 L3 ..,\'
‘ﬂ 1020 30 40 S0 pUNID K0 90102 110 120
{0, 0 \L £+ 20 =120
\'.." Xyl
The corner points of the feasible region are A (60, 0), B (120, 0), C (60, 30), and D (40, 20).
The values of Z at these corner points are as follows.
Corner point Z = 5x + 10y
A(60, 0) 300 — Minimum
B(120, 0) 600 — Maximum 1+1
C(60, 30) 600 — Maximum
D(40, 20) 400
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. 0" |

= i3y

The corner points of the feasible region are A (6, 0) and B (0, 3).

The values of Z at these corner points are as follows.

Corner point Z=x+2y
A(6, 0) 6

B(O, 3) 6
It can be seen that the value of Z at points A and B is same. If we take any other point such as

(2,2)online X +2y =6,thenZ=6
Thus, the minimum value of Z occurs for more than 2 points.

Therefore, the value of Z is minimum at every point on the line, X + 2y = 6

1+1
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% B B F=AT : 03
Higher Secondary “CBSE” On Demand Exam. December-2021
TR AHUSY IR HHgws’ 39 feArvs o, feR—2021 (fgaia sawR)
Y IR

964
fawg : Aifre fasm (dgii~ie)

Subject: PHYSICS (Theory)

Sr. VALUE POINTS Marks
No.
1 Magnetic dipole moment 1
2 | Any one use of micro waves 1
OR
1:1
3 F= q(VxB+E) or in other form see please 1
4 Remains same 1
OR
7.707A, SOHz
5 | h/2ll 1
6 6eV 1
7 Antinutrino 1
OR
Electron
8 Decreases 1
OR
25Hz
9 | 100hm 1
10 | Photodiode 1
11 | a) Both A and R are true and R is the correct explanation of A 1
12 | b) Both A and R are true and R is the correct explanation of A 1
13 | c) Aistrue but R is false 1
14 | b) Both A and R are true but R is NOT the correct explanation of A 1
15 | (i)-d 4x1=4
(i) =b
(iii)-
(iv)-d
(v)-d
16 | (i)-c 4x1=4
(ii)-a
(iii) -a
(iv)-d
(v)-c

[964]0-12 Page 1 of 3



17 | Derivation 2
18 | Plot of Intensity distribution of diffraction with proper labeling 2
OR
ni/d=2)/a n=2d/a ,where d is separation between slit and a width of slit 2
19 | Derivation including both terms electrostatic energy in system and in external 2
field
OR
Derivation of relation E=-dV/dr 2
20 | Action of p-n junction diode in reverse biasing. 2
21 | Fluxs
. -1
? x 1073 wb
Inducedem fE= -1
0.866Vv
22 | Definition + Definition 141
23 | Energy diagram 2
24 | Definition of each term %+1/2
Diagram showing relation 1
OR
Bv/B,=tan@ Putting values,0=30"
25 | 1/f=(1/v)—(1/u) ; f—focal length v- image distance, u-object distance 1+1
26 | Definition + Prove 1+2
27 | Circuit diagram 1
3
\Y%
1
0 *R
Maximum current drawn will be at R=0 1
OR
Circuit diagram 1
Applying correct formula -
And caluation of p.d=11.5V %
Series resistor limits the current drawn from source 1

[964] C-12 Page 2 of 3



28 | Equation + Terms name 2+1
OR
Main implications
1. kinetic energy of emitted electrons depends upon frequency,but not on
intensisty of radiation
2.there exist a frequency of radiation below which no photoemission takes
place, how high intensity of radiation may be.
Explanation wave nature of radiation fails to explain photoelectric effect
29 | Definition+ Definition + Definition 1+1+1
30 | One difference between nuclear fission and nuclear fusion 1
Calculating Q=((m) Fe-2(m) Al)C2 =26.90MeV 1
Justification:- not possible 1
31 (a) Statement of Gauss law 1
Proof of outward flux due to a point charge Q ,in vacuum within 2
gaussian surface, is independent of its size and shape
(b) Net electric field towards left=c/¢ left 1
Net electric field towards right=c/¢ right 1
OR
Definitionof ideal dipole +example 1
Derivation of torque 2
Putting values in correct formula and solvingL3 1
value of charge and potential energy Q=8x1048 C U=-8J 1
32 (a) Definition + Derivation 4 142
(b) Explanation that adding R it will behave RC series ac circuit Calcuation 2
of current and phase angle.
OR
(a)Principle of ac generator 1
(b)Well labelled diagram 1
Brief working and emf expression 2
(c) reason 1
33 (a2) Definition of wavefront 1
(b) Ray diggram showing shapes of vy_ayefront
L S i 1
[/ f/\\( //\\‘x 1
1 T
v/ i ra
(c) Proof of Snell's law 2
OR
(a) choice of objective a
2+1

(b) ray diagram of reflecting type telescope
Formula of magnifying power

(c) stating two advantages

[964]c-12
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Higher Secondary “CBSE” On Demand Exam. December-2021
TRR AHvSN UeT Aeeds’ dfF feArvs Jo, foqmaR—2021 (fEda srawR)
964
fowg : Yifvs 3=

Subject: PHYSICS
THYG : 03 TUS qUIfeb : 70

Time: 03 Hours Maximum Marks: 70

® FHUA Sifg X of fh 39 Y- H 3T IS 1 W 16 £ |

* HUAT g &R of & 39 yeF—ux # 33 g ¥ |

® HUAT YT BT IR [oRIAT Y& B A TS, U BT HHAID Jaey ford |

* T UTH-UF Bl UG & forg 15 fAFe &1 9w fear war 7

e Please check that this question paper contains 1 to 16 printed pages.

e Please check that this question paper contains 33 questions.

e Please write down the Serial Number of the question before attempting it.

e 15 minutes time has been allotted to read this question paper.
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W %9 —

(1)  ft oo rfyard €1 U U 7 33 U €|

2) 39 UTH-UF H WUS § — W3, d, 9, T 3R W3 |

3) WUS 3 H Uh—Ud 3 & < U © off IR JA IR U HUA qAT dh
JEMRT €, Wv8 § H o IAEMRT &I U AP 4 AP & 8, @ve I H aI 3fhi
@ A U §, IR Wus g H A bl & Ud oy ITRIY U © qAT WuE § H
I e ST g9, UR-e U Ui 3 Bl 2

(4) @IS 9T fAhed 21 T | BB ARG [ded & 1Y E, AMUDI TH Ul H A Hae

% fAded B & HIAT ¢ |
(5) ey Hifdw ReRried & ffoRad Jeai &1 SN &R A& 8, Tal Bl AaeTH
& —
c=3x108m/s
h=6.63 x 103 Js
e=1.6x10"°C
Ho=4nx 107 TmA"

o
I

=8.854 x 10"2C2 N'' m=
L —9x109Nm?2C?
4Teg
me = 9.1 x 103" kg
Mass of neutron = 1.675 x 10" kg
Mass of proton = 1.673 x 10?7 kg
Avogadro’s number = 6.023 x 10% per gram mole
Boltzmann constant = 1.38 x 1023 JK
General Instructions -

(1)  All questions are compulsory. There are 33 questions in all.

(2) This question paper has five sections: Section A, Section B, Section C,
Section D and Section E.

(3) Section A contains ten very short answer questions and four assertion reasoning
MCQs of 1 mark each, Section B has two case based questions of 4 marks each,
Section C contains nine short answer questions of 2 marks each, Section D contains
five short answer questions of 3 marks each and Section E contains three long
answer questions of 5 marks each.

(4) There is no overall choice. However, internal choices are provided. You have to
attempt only one of the choices in such questions.

(5) You may use the following values of physical constants wherever necessary -

c=3x108m/s

h=6.63x 103 Js
e=16x10"°C

Ho=4nx 107 TmA"

€ = 8.854 x 107"2C2 N'' m=

=9x 109N m2C?
41'[80

me = 9.1 x 103" kg

Mass of neutron = 1.675 x 10" kg

Mass of proton = 1.673 x 1027 kg

Avogadro’s number = 6.023 x 10?3 per gram mole
Boltzmann constant = 1.38 x 1023 JK

o)
o
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Wuig — I
SECTION - A
g ueq Afard €| ordRe fdded 89 IR Bis Udh fdbed o1 v ford |

All question are compulsory. In case of internal choices, attempt any one of

them.
S At ¥y &1 M ford e a8 ufmR—at Hiex 2|
Name the physical quantity having unit A-m?2.
AIZHIIT BT b SUINT fored |
Write one application of microwave.
3rerar / OR
T UETe a9 e axirasd 6000A T 8000A €, fata # 19 @R & B
ST TT BT AU FAT BRIT?

Give the ratio of velocity of the two light waves of wavelengths 6000A and

8000A travelling in vacuum.

AR g1 BT ordh ford |

Write expression for Lorentz force.

TEH AleFSs @ dR H AMERA o ufed I T § S99 N B Aol & arT
T T § JAT ORI YA | B | Ife gRT YA BT A9 T wR A S
AT IsS & URbod L TR T U9Td UQ?

A solenoid with N loops of wire tightly wrapped around an iron-core is carrying
an electric current I. If the current through this solenoid is reduced to half, then
what change would you expect in inductance L of the solenoid.

GTWTZOR
fdl SN & UaTddl RT Bl i = 10 sin 314t I for@m a1 2 | 9RT BT 9914 a1
AT T BT Mgy fordd |

An alternating current from a source is given by i = 10 sin 314t. What is the

effective value of current and frequency of source?
g s WA &1 gl oiifde # geiag« & vl Hawr &1 19 31 8IT°

What is the value of angular momentum of electron in the second orbit of

Bohr’s model of hydrogen atom?

[964] Page 3 of 16
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10.

BIel SAfded TATd & TART H DTS I goldeld gold?= &l b & ford 6 diee
QeI B MaeHdT B | 39 goideid B AfDbad TSt SOl BT H19 a1 BFIT?

In a photoelectric experiment, the potential required to stop the ejection of

electrons from cathode is 6V. What is the value of maximum kinetic energy of
emitted photoelectrons?

W RS B e B AN AMfHAT § e 9T geide & A FEfd Yo
BT HT AT qaAms |

In decay of free neutron, name the elementary particle emitted along with

proton and electron in nuclear reaction.
3rerar/ OR
X SR AMACHAT § FHOT X BT AW TSy |
%Na+X—> % Ne + vg
In the following nuclear reaction, identify unknown particle labelled X.
ZNa+X — 2 Ne + v,
IfT p-n AT B ST Arsar 928 TR O SieE a5 @7 s W™ |7 ywd
BIT?

How does the width of a depletion region of a p-n junction vary if doping

concentration is increased?

3rar / OR
BI% 99 fITHIbeH & ford gge AGRT 25 8ol @, dl JATSCYS IMIRT FT BIf?
In half wave rectification, what is the output frequency if input frequency is 25
Hz.
9 p-n SIAR SIS &1 dlecol S 0.70 VA 0.75V fhar Siar g a1 SRS Ol

B A H 5 mA BT IRddT BIdT 2 | SIS BT SRS YR =T gRTT?

When a voltage drop across a p-n junction diode is increased from 0.70 V to
0.75V, the change in the diode current is 5 mA. What is the dynamic
resistance of diode?

BT B Agar B STied & o fod p-n STaeM STt &1 YT fdhar STrar 287

Which p-n junction diode is used for detecting light intensity?

[964] Page 4 of 16
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11.

12.

13.

14.

e HHId 11,12, 133K 14 ¥ &1 o9 ¥ T €| HUF 1 — JIMAHUT qAT Hod
g — T T g7 U TG IMUB! FE SR &1 7oA A M fHfaRed are @
TERIAT | BT B |

(37) QI 1 AT HEI § TAT 9, I TG SUIAd qD o |

@) QT AT 9 HE § TAT 9, I =G SuJaAd ad el 2 |

() o1 W8l § a7 § 3N & |

(@) o Jor g TFI A © |

For question numbers 11, 12, 13 and 14 two statements are given, one
labelled as Assertion (A) and the other labelled as Reason (R). Select the
correct answer to these questions from the codes (a), (b), (c) and (d) as given
below.

(@) Both A and R are true and R is correct explanation of A.

(b) Both A and R are true and R is not the correct explanation of A.

(c) Alstrue but R is false

(d) A and R both are false.

IAHA (31) — A Jgd &7 H, Jgd fggd grdeiet oI goia ITfd 91 & |
T® (d) — g fagd &5 # faga faga 9o don e Sl &1 379a B |
Assertion (A) : In a non-uniform electric field, a dipole will have translator as
well as rotatory motion.

Reason (R) : In a non-uniform electric field, a dipole experiences a force as
well as torque.

NG (31)—Td FAT fava arell &1 Fdg U AR BT HHI |l 3MId H§ &1 Hred! |
a® (@) — Jed fava &1 Fomers Afste Rgd &= o aRfd a=ar 2|
Assertion (A) : Two equi- potential surfaces never intersect each other.
Reason (R) : Negative gradient of electric potential is electric field.

IAHA (31) — 3radel UV Bl avg o1 IR AT ATARY UfIfdg F=7T 2|
qb (9) — ST TUIT 3MUfd B9 arell AR fhRol BT fAaRa &=ar 2 |
Assertion (A) : A concave mirror can form real or virtual image.

Reason (R) : Convex mirror converges the parallel rays that are incident on
it.

MBI (31) — I o RTADT Bt G 25 AHL T BT AR FeAge & wY
H | R § yaRT F81 far 511 A |

TP (@) — AR FeAaell o Mae emar M Rfd & aie § M=D/f gichl
g

Assertion (A) — A convex lens of focal length 25cm can’t be used as a simple
microscope in normal setting.

Reason (R) — for normal setting, the angular magnification of simple
microscope is M=D/f.

[964] Page 5 of 16
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15.

gve — d
SECTION-B
e AT 15 AT 16 & TSl RRT 2| 37 Ul & fhsl IR W & IR
fart wu 9 ford |
Questions 15 and 16 are Case Study based questions and are compulsory.
Attempt any 4 sub parts from each question. Each question carries 1 mark.

ST T # B9 | 99 |asl ®I a e [agd ae1 Y@ Bl 9% @7 ¥ ]
21 Ue g oM S | SO 5 0 Q1 IR 99 fava |dgt @ fvarR
B! R AFT ST & | U g 399 & BRT el |9 fa9a dd8 & b= R
faeg amaer B @ | fae[a a1 v w9 fava wag W e sified &1 faem #
gl

A

I

For the various charge system we represent equipotential surfaces by curve
and lines of force by full line curves. Between any two adjacent equipotential
surfaces, we assume a constant potential difference. The equipotential
surfaces of a single point charge are concentric spherical shells with their
centres at point charge. As the line of force point radially outwards, so they
are perpendicular to the equipotential surfaces at all points.

[964] Page 6 of 16
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(i)

(i)

(iv)

[964]

TAd B YgaT1 —

(1) U a5 oMaw & BRI |A fI9a Fdg BT SR eld BT & |

(2) figa fega & ford N 99 g Aag 9918 N A& 2 |

(3) WA oM was & UG a5 W fAga 9o ¥ e &1 famm 4 gl
g |

(4) ¥ favg A8 & fbgl &I 9l & 4 uRieTor e o1 g ¥ foa
T R I AL B

Identify the wrong statement-

(a) Equipotential surface due to a single point charge is spherical.

(b) Equipotential surface can be constructed for dipole also.

(c) The electric field is normal to the equipotential surface through the
point.

(d) The work done to move a test charge on equipotential surface is

not zero.
U fdwg e & HROT 94 fdva A8 BT AHR —

(1) <A oMY S AR TR (2) T AT IHD Do U
(3) Tl 3T D Adg W (4) FdS AT el FdE TR

Nature of equipotential surface for the point charge is -
(a) Ellipsoid with the charge at foci

(b) Sphere with charge at centre of sphere

(c) Sphere with charge on the surface of sphere

(d) Plane with the charge on sphere

TS Mt 99 fo9g a8 ava 81 © —

(1) U |AF JARE T & 3k (2) faga & o
(3) TMelg ATAd & A (4) g amaer & for
A spherical equi-potential surface is not possible -

(@) Inside a uniformly charged sphere

(b) for a dipole

(c) Inside a spherical conductor

(d) for a point charge

e g el Boar “a’ s, @ B R A “Q7 ™l T | U A g

Pl TP IRI AP T IFDbI o | fhd=T BRI HRAT BIIT?

(1) 2 @) e
@) ez (4) <

The work done in carrying a charge ‘q’ once around a circle of radius “a”
with a charge “Q” at its centre is -

qQ qQ
(@) 4trepa (b) 4mega?
q
(c) p——s (d)y Zero
Page 7 of 16



16.

(v) Tl 99 favg 9as & 31 fd5 P 9o Q & 419 Sdig oMa% &l gAM H
fopar T Bt —

(1) ﬁﬁiﬁﬁwﬁwﬁﬁ—fﬁdf 2) =

P
(3) IS #H S I A & (4) fawew (1) T (2) W& &
(v) The work done to move a unit charge along an equipotential surface
from P to Q-
Q
(@) must be defined as —J'E.dt (b) is zero
P
(c) can have a non-zero value (d) both (a) and (b) are correct

o AP T D §RT oI DI Bidel o BT IHD! Adal &I Ihdl R & A1
o @ ATEE © UadHid @ AT e qardT Sl g | o Ao g3l freferRad

g %:(p-1)(Rl1-Rl2),a%T W o & AR &7 3Mad+ia & 99 ARIH & WTuel
WWWW%|@HV>Merr>fV.
o 1 T BIhe ol Uil T @ o f= (/f, xf,

The lens maker’s formula is a relation that connects focal length of a lens to

radii of curvature of two surfaces of the refractive index of the material of the

lens. It is%:(p-1) (RLRL) where u is refractive index of lens material w.r.t.
1 2

the medium in which lens is held. As nv>ur, therefore, fr>f,. Mean focal length

of lens for yellow colour is f = /f. X f,
(i) wra A T sfaa STa o9 @ arg § wiea du 20 AL B | IS Aag b

W%@T%ﬁ?ﬁ(ﬁmwéu:g)—

(1) 10 3L (2) -10 ¥n .
(3) 20 %ML (4) -20 34

(i)  Focal length of a equiconvex lens of glass p=g in airis 20 cm. The radius

of curvature of each surface is -

(@) 10cm (b) -10cm
(c) 20cm (d) -20cm
(i) TP I A H I oI Pl ARE AT ST H AT oI DI ARG BRI BRI
 SE®I IYga-ih & —
) IR B AYGAID I 3B qAT STl & AUIdid H HH
) g qAT T QFI b JYIcID A Al
) 9 & UGS H HH
) NI STl @ JMUAAHi® B axIER

[964] Page 8 of 16
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(i)

(i)

(iv)

[964]

A substance is behaving as convex lens in air and concave lens in water,

then its refractive index is-

(a) greater than refractive index of air but less than refractive index of
water

(b) greater than refractive index of both air and water

(c) Less than refractive index of air

(d) almost equal to refractive index of water

UH Udel ofd &I Fdal & ahdl Ui Ry @I Ry, M0G0 ‘N, Bibd ool

‘f’%,?ﬁ(l-l) Ue P A BRI —

R Ro
@ o (b) f(n-1)

(n-1)
(¢ = @ o
For a thin lens with radii of curvatures R1 and Rz, refractive index ‘n’ and
focal length ‘f’, the factor (RLRL) is equal to -
1 2

@ (b) f(n-1)

(n-1) n
€ — (d) D
Th T o I 3rqad=ia (p: g)QEB qeId H add of Pl dNg
AER AT T, Al 39 AIH BT Adaid Y BRT—

() 1 (b)
(© 3 (d)

. 3 -
A given convex lens of glass ( 2 E) can behave as concave when it is
held in a medium of refractive index p equal to -

(@) 1 (b)
(c) (d)

Th I BIdaT o DI g Bl Tehal (oIrd 20 WHI. d2AT 40 T4 21 39
oI @ BIhd ool 20 T4 B | 59 o @& garf &7 319da+ie s8N —
5
2
5

AN NMDI®

AN NMDI®

wiN

(a) (b)
© 3 (d)

The radii of curvature of the surfaces of a double convex lens are 20 cm
and 40 cm respectively and its focal length is 20cm. What is the
refractive index of the material of the lens?

(a) (b)
(c) (d)

alds WIild

| o

[CSN NS T V)
als Wibs
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17.

18.

19.

20.

Ylg — ¥
SECTION-C
T g Afard | ordRe fdded 89 TR BIs Udh fddbey o1 Sk ford |

All questions are compulsory. In case of internal choices, attempt any one.

ST FHIR ATl § ydTfed 8 dTell f9gd ORT & SR 9 BT AsTd Ul o | )
Find expression for force between two parallel current carrying conductors.

thd Rere faads v & et &1 gl &1 hal DIV & |1l IR &I % 6
WEAT 9 SR & | 2)
Draw the graph showing intensity distribution of fringes with phase angle due

to diffraction through single slit.

3rerar / OR
RiTel Rete Ued & Ao Afeaar § 9o Rede ded & n Afegar & urd &=
Tq, S9a Refe Ued & TNt ¥ uxie Ree @1 diely &1 81 a1ed? e T
PN |

What should be the width of each slit to obtain ‘n” maxima of double slit pattern

within the central maxima of single slit pattern?
QT AT q1 TAT Q2SI 1 TAT r2 IR A1 faga &= (E) # Rera € 2q faga Refow
ol B old U BT | ()

Deduce an expression for the potential energy of a system of two point

charges g1 and gz located at positions r1 and r2 respectively in an external field
(E)
3rerar / OR
faera a3 & fhefl fag o fAggd &= @1 fgar qen favar=<R gq &ioid i & |
Establish the relation between electric field and electric potential at a point.
p-n Y SIS B yTd qRARAT # fhar fafy @1 uRuy o & Arer e o | )

Explain with help of circuit diagram, the action of a reversed biased p-n
junction diode.
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21.

22.

23.

24.

25.

U IR I 991 g3 ¥ OTA®! &3%a 100 & I € 3l 107! STl & g &
# 39 ISR 3@ Ol & {6 I8 U g &3 & A1l 60° BT DI 9910 | 349
U ¥ Adg TAdd BT A a1 BE7 AR R & Bl 102 dave H T IR
fear SR, o1 URT fagd amesd 9 BT A9 FAT BRIT?

A coil of wire enclosing an area 100 cm? is placed with its plane making an

angle 60° with the magnetic field of strength 10" T. What is the flux through
the coil? If magnetic field is reduced to zero in 103 s, then find the induced
emf.

FAG (Plev<) T FT 82 YHTY & AfTHRUT BT IRATNT BT |

What are coherent sources? Define interference of light.

N-UBR & e ATedd v ol WR T ( I8 STIUT™) 1S |

Draw energy band diagram of n-type extrinsic semiconductor.

S Y&l P gR¥IYT HRI—

(1) e sfapeled (2) fHdl W R gl & geag &3 & &8s gch
QUG o RT 38 USRId &) g §1H Hae oI1iud & |

Define the terms-

(1) magnetic inclination (2) horizontal component of earth’s magnetic
field at a place

Establish the relationship between the two with help of a diagram.
3rerar/ OR
Bl I R gedl & g & &l &Sl g &1 A e gcd & A BT V3

TAT B | S I BT SiaA-TeT BIvT S a1 |

Horizontal component of earth’s magnetic field at a place is V3 times the
vertical component. What is the value of inclination at that place?
o g &1 ford der 399 ey Usl $l gad1gy |

Write expression of lens formula. Tell about terms used in it.
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26.

27.

ygls — ¢
SECTION-D
Tt g 1At €| 3fdR® Ay B89 R Pis Uh fAhed &1 SR ford |
All questions are compulsory. In case of internal choices, attempt any one.
ofSt &1 g9 ford den aarsd fb I8 ol WRev & 9 & Agwy B |

State Lenz’s law and prove it is in accordance with law of conservation of

energy.

U ol RSTaT S.UA.TE. E © T7 AR URE r 8 &I Udh yRafid g dTel died
IR R & ¥72F SireT Sfrl & |
@) uRur @1 fom g9y
@) % TRy RoTaH dieferre $ia S f 911 UfoRi R @R & a1 R & %aid
D wYH B
@) R @ fd 99 & forg uRuer # figd arT &1 w9 ifdidas 8F |
A variable resistor R is connected across a cell of emf E and internal
resistance r.
(a) Draw the circuit diagram.
(b) Plot the graph showing variation of potential drop across R as function
of R.
(c) At what value of R current in circuit will be maximum.
3rerar/ OR
U% ROl d9¢1 IPT SYAUE. 8 dlec & dT AdRE UfARRT 0.5 31gH &, P S,
1. S RTdT 3TN, 120 dlec ® BT Udh a1l UfoRRT ST A9 15.5 3NgH
& TT AT 7 SeT 1T 2
@) uRur @1 fom a9y
@) e B AR R IR &1 99 g BN |
@) 9 ufhar # 2ofiepd # 91T URoRRT T &7 9T Se%d 7 9adigd |

A storage battery of emf 8V and internal resistance 0.5 ohm is being charged

by d.c. supply of 120 V using a resistor of 15.5 ohm —

(@) Draw the circuit diagram.

(b) Calculate the potential difference across the battery.

() What is the purpose of having series resistance in this circuit?

[964] Page 12 of 16
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28.

29.

30.

BICT golfdgd AHIBRYT T | §9 TSR0 H I g Y&l $l 9ad1sd |
Write photoelectric equation. Explain the terms of the equation.

3rerar / OR
faf=1 wIel gelfdced TN & g veon & fHfedel of ford | wr g7 ffgamd o
YT BT TR UPIA & ATIH A FHSIAT ST AHAT 57 AT SIa1d BT Sl |rfad
N |

State the main implications of observations obtained from various

photoelectric experiments. Can these implications be explained by wave
nature of light? Justify your answer.
39 Uql &I gR¥IT H—

(@1) SIS Sofl

@) TSI ol

(d) TISQISM URATY] B AT Il

Define the following terms —

(@) lonisation energy

(b) Excitation energy

(c) Value of lonisation energy of hydrogen atom

(@) DI faEed o ANeT el ¥ 3R g U fdg qargd |

(@) URHIY %5 Fe b MBI fague H a1 b S URATY 285A1 & A1WDb YT
BT & | T U faEes $oil ket Rigid @ W |Md 27 39 fhar @ Q

A I UM HReb ATT TS |
fear T 8 —  (m) %626 Fe = 55.93494 u and (m) 2813Al = 27.98191
(a) Give one point of difference between nuclear fission and nuclear fusion.
(b) Suppose we consider fission of a 625 Fe into two equal fragments of
28:3Al nucleus. Is the fission energetically possible? Justify your answer
by working out Q value of the process.
Give (m) %626 Fe = 55.93494 u and (m) 813Al = 27.98191
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Yls — %
SECTION - E

T g Afard | SR fdded 89 TR Bis Udh fdbey &1 Sk ford |

All questions are compulsory. In case of internal choices attempt any one.

31. (@)

[964]

SATERC e & ST & g8 BT 9a18d | 59 99 & agradr o ot
3T odTS dTel U |AT WU W AR dR & BRUT G g R fagqa e
@ AT 7 ASID BT AT DI |

form # M o dag arell Ml wiel & e Jag W Smaw g9
P +26, -26 TAT + 6 & | AT &3 &1 ciean vg yRAmr dorr fawm &1 49
1 <1 fagall W A R |

(1) fag S f& +20 maer arell |ag & arff &R 2

(2) fag I fF + o 7ae arel ¥dg & I AR B

26 -20 c

State Gauss’s law on electrostatics. With the help of this law, derive an
expression for the electric field intensity at a point due to a uniformly
charged wire of infinite length.

In the figure there are three infinite long thin sheets having surface
charge density +2c, -2c and + o respectively. Give the magnitude and
direction of electric field- (1) at a point to the left of sheet of charge
density +2c and (2) at a point to the right of sheet of charge density +c.

26 -20 c
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[964]

3erar/ OR
faer faga @1 aRMINT &) | 39@T Ta SaTervr ford |
faera fega W e 99M =@ &3 3§ oW arel <id 7g doid dl UT< & |
918y 39 fagd R v w9 fgd &3 # aRomd a1 &1 Fa1 w19 gnT?

e fagld faga Roraa! ofars 2 99 2 @1 faga e sl daar 108 N/C &
@ 1T 39 UBR W1 AT & 16 fgga o7 31e7 f[ag[a &= & |1 60° &1 BIvf
AT 21 39 fgYd R o dTel € &7 8V3 N-m HIF 2, AT S1d d—
faga W e &1 79 qAr S9S Refost Fot |

Define an ideal electric dipole. Give an example.

Derive an expression for the torque experienced by an electric dipole in
a uniform electric field. What is net force acting on this dipole?

An electric dipole of length 2 cm is placed with its axis making an angle
of 60° with respect to uniform electric field of 10° N/C. If it experiences a
torque of 8V3 N-m, calculate the magnitude of charge on the dipole and
its potential energy.

T LR, $07 gRYer 2 SRS~ &I URHINT &N AT 39 B oid holk
SIIU™ Ay &1 HAerar I Ut o |

TP TR & <1 Sivfishd #§ U 9T UfoRIe SireT SfdT © | S99 39 uRuer

H yaned 89 dTell IRT IR A1 GRdc= BT 921 fAgfd &Ry dorr favar=iR &

ol DI § fohd=r aRad= grm?

Define impedance of LCR series circuit. Derive expression for it using
Phasor method.

If resistance is added in series to capacitor, what changes will occur in
the current flowing in the circuit and phase angle between voltage and

current.
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[964]

3erar/ OR
T, SMReR BT Rigia forRay |
AR & gRT UL SFRER &1 BRI T greell H SId 3.0A.UB. B
TS U BN |

T Frecll B {97 GAY S.UATH. S [HIT S AHdT 2° FHSIEY |
State the principle of ac generator.

Explain with the help of a well labelled diagram, its working and obtain
the expression for the emf generated in the coil.

Is it possible to generate emf without rotating the coil? Explain.

TEMT BT URAINT &Y | TTTelid, JA-TH: a7 FAde a9 & F a918 |
BRI RIGTd &1 A8™dT | Judad ¥ Hafdd o Rigid & Mg o |

Define a wavefront. Draw figure of Spherical, Cylindrical and Plane

wavefront.

Verify Snell’s law of refraction using Huygen’s principle.

3erar/ OR
T GREYT & Ieell o &1 =9 $Ra §HY b a1l &1 ea fQa
ST 8? fdgl a1 @l ford |
WRTaCH gReelt BT I I8 AT SHD AN &HdT 7 AId ford |
TR & RIgia W) mnRa xeel, sadd & Rigid wR smeniRd et o
3YUETT SIS BIAT © | AHASISY |

State two main considerations taken into account while choosing the

objective of astronomical telescope.

Draw a ray diagram of reflecting type telescope. Derive an expression
for its magnifying power.

State the advantages of reflecting type telescope over the refracting

type.
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965
fovg : e foam (Qeia®)

Subject: CHEMISTRY (Theory)

MARKING SCHEME SET A

Q.NO | ANSWERS MARKS
1 (a)B 2+1=1
(b)C
(e} C
2 (1)A EACH
(2)B OPTIOM
(3)C . ONE
(4)C MARK
OR EACH
n B
m
() A
(1V) D
3 B 1
OR
A
4 A 1
OR
D
5 C 1
6 A 1
7 C 1
8 C 1
9 C 1
OR
A
10 B 1
11 A 1
12 C 1
13 A 1
14 B 1
OR
A
15 C 1
16 B 1
OR
A
17 CeHsCHCICgHs is more easily hydrolyzed It involves formation of a secondary carbocation which is 2

stabilized by resonance with two phenyl groups. On the other hand, during hydrolysis of CgHsCH,Cl,
a primary carbocation is formed which is stabilized by resonance with only one phenyl group and is
less stable and less readily formed.
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H
C
@
Less stable
less readily More stable
formed More readily formed
18

Generally, it follows a three-step mechanism. The steps involved are explained below

1. Formation of protonated alcohol:

In this step, the alcohol is acted upon by a protic acid. Due to the lone pairs present on oxygen
atom it acts as a Lewis base. Protonation of alcoholic oxygen takes place which makes it a
better leaving group. It is a reversible step which takes place very quickly.

H,C Ho[ H,C H | HE  H

/ o

/| /|
CHCH~C —0H+H—0 —» | CH,CH~¢C —QH+ H-—Q\ =% CHCH>~¢c—0
| N

H,C H | H,C H| H,C H

2. Carbocation formation:

In this step, the C-O bond breaks generating a carbocation. This step is the slowest step in the
mechanism of dehydration of an alcohol. Hence, the formation of the carbocation is
considered as the rate-determining step. %

H

I
X

70

C o .C
N L4 b

CH,CH~c—0p — CH,CH, -, — CH,CH, —
\ 3
H,C H : H H

Alkyl Oxonium ion Carbocation

S
N
O

XL

ON

3 Alkene formation:

This is the last step in the dehydration of alcohols. Here the proton generated is eliminated
with the help of a base. The carbon atom adjacent to the carbocation breaks the existing C-H
bond to form C=C. Thus, an alkene is formed.

¥

¥% mark
to shov
arrow
for
electro
shift
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H.C CH

K 3

CHCH, —¢' —— CHCH=C

/ h

H,C CH,
19 CsHsCOOOH +S0Cl,-= CgHsCOC 1+1
CsHsCOCH Hy—---= CgHsCHO (ROSENMUNDS REACTION)
(b) CH3CONH2 +Br2+KOH--->CH3NH2
CH3NH2+HONO--> CH30H+N2+ H20
OR
(i) TOLLENS TEST for benzaldehydeAND SODIUM NITROPRUSSIDE TEST for acetone(or any test
applicable)
(ii) formic acid gives positive test with tollens reagent whereas acetic acid does not
20 () sec>pri >tert metyleamine 1+1
ethylamine>Diethylamine> Aniline
21 2
On the basis of nature of dispersed phase, colloids are classified
das :
(@) Multimolecular colloids, e.g., gold sol, sulphur sol etc.
(b) Macromolecular colloids, e.g., cellulose, starch, etc.
(c) Associated colloids, e.g., soaps, synthetic detergents,
NOTE; ONLY NAMES ARE SUFFICIENT ; MARKS NOT TO BE DEDUCTED FOR egs
OR
(a) The charged colloidal particles start moving towards oppositely charged
electrodes '
(b) River water is a colloidal solution of clay and sea water
contains lot of electrolytes. The point at which river and sea
meet is the site for coagulation. Deposition of coagulated clay
results in delta formation.
141
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22 From the given cell reaction and Nernst equation.
0.0591 2" 1/2
Eeep = E;u - lo (N1 ]
n [Ag*)®
=1.05v - 20591 ' [0.160] 1/2
2 [0.002)?
0.0591
=1.05 - > [Og (4)(1{}4)
0.0591
=1.05 - 5 (4.6021)
=1.05-0.14 =0.91V
Ecey =0.91V 1
23 (a)Cu +1is not stable in its aq solution due to its less negative enthalpy of hydration 1+1
(b)oxygen and fluorine have small size and hogh electronegativity,therefore they can easily
oxidise the metal to its highest oxidation state.
24 This is due to the factthat— 2
(a)In phenol, conjugation of unshared electron pair over oxygen with
aromatic ring results in partial double bond character in carbon- oxygen
bond .
25 In phenol, oxygen is attached to a sp2 hybridized carbon atom while in 1+1
methanol, it is attached to a sp3 hybridized carbon atom. The bond formed
between oxygen and sp? hybridized carbon is more stable than that formed
between oxygen and sp3 hybridized carbon.
Or any other justified answer
OR
()pCcC
(ii) ACIDIFIED KMnO04/K2Cr207
1+1
26 a)Definition and example ¥%+1/2
1
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Mass of glucose (Wp) =54 ¢
Molecular mass of glucose (M p) =180
Mass of water (Wy) =250 ¢
Ky for water =1.86 k mol™ kg
Ky xWg x 1000
Mg xWy
AT; = 1.86 X354 x 1000 _ 11
180 x 250
Tp =T - ATy =0-(2.23)
T, =-223°C

Applying the formula. ATy =

27 (a)Cr+2 oxidizes to Cr+3 which is more stable in aqueous solution due to half filled t2g3 1+1+1
(b)it is fairly regular decrease in size in lanthanoid due to imperfect shielding of 4f orbital with
increase in atomic no.

(1) CONSEQUENCE Zr and Hf has same size Although they are in different period.

OR .

(a)greater are the no of unpaired electron greater is interatomic force of attraction

(ib) due to small size, high nuclear charge, &vacant d orbital to accept the lone pair of electron
(c)Due to very less difference between (n-1) d and n s orbitals.

28 a)Potassium hexacyanoferrate(lll) 142
d,d.d
Ju

e

A

Energy L Ea
T

Iu:li-ﬂ
.L*

24,

|

':ie

dotbials  Averige energy o the Q;mmg ;ul'dor!xuls
free woa derbitalt n spherical  in tetrabedral eyl
crysal fzld ficld

b)l Fig.8.9: d orbital splitting (n @ tetrahedral crystal field.

OR

(i)d*sp®
(i) Inner orbital complex
(iii)Diamagnetic

1+1+1

29 | (a)CH2CI2 | each
(b) 2bromo pentane
(c) Tert butyl chloride
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30 15

TQ NH, NHCOCH,,
T N
® ™3 sn/HCL [ TN (CHCOLO 7 N
| ] SO,
e = vridine -

'!N.‘D/'_'_ﬁo_;,r\\ H'/HO f o 1.5
\7' T/’

NO, NO

NHCOCH,, :"]\IH("O(.‘ H NH,
i

OR ANY OTHER SUITABLE METHOD

OR
1
(a)HNO3 acts as a basein the nitrating mixture and provides the
electrophile, NO2™ 2
(b)- NH2 group is an ACTIVATING GROUP, if not acylated it will 1
form poly substituted product ,hence to decrease its reactivity, its
acylated.
(c) salicyaldehyde 1
31 The order of the reaction zero. 1
Slope = -k 1+3
. A=1,B=2 Rate = k [A] [B}?
OR
Formula +substitution
calculation
correct answer= 4.438 x 10° s
1+1+1

During an elementary reaction, the number of atoms or ions
colliding to react is referred to as molecularity. Had this been an
elementary reaction the order of reaction with respect to B
would have been 1, but in the given rate law it is 3/2 . This
indicates that the reaction is not an elementary reaction

(c) whenever one of the reactant is present in excess its
kinetically a first order reaction

[965]0-12 Page 6 of 8



32

(a) (i)due to nascent hydrogen.
(ii){resonance in SO2 MOLECULE,STRUCTURES PREFERABLY
(iii) CI2>Br2>F2>12
b.(i) 3Cl,+6NaOH ----->5NaCl+NaCl03+3H,0
(ii) 3Cu+8HNO;..... ;3Cu(N0O3),+2NO+4H,0 ( no marks should be deducted for
balancing)

OR
(a)

To find covalence draw the structure of NO, and count the number of
bonds formed by each N atom, which is equal to its covalence,

Hence the covalency is 4

(ii)XeF4
(iii)
Solution. The difference in electronegativity values of Q(E.S} and

H(2.1) is more than the difference between the electrbnegativity
values of H(2.1) and S (2.5) i.e., O—H bond is more polar than S—H

bond. That is why H-bonding is present among water molecules but
absent in H,S . Thus, strong intermolecular interactions cause water to

exist as a liquid but due to weak van der Waals' forces H,S exists as a
gas. : '
,--H_?---H-—Q---Hm—?
|
H H H

(iv) Due to small size of fluorine six F ™ ion can be accomodated
around sulphur whereas chloride ion is comparatively larger in
size, therefore, there will be interionicrepulsion.

(v) low temp (700K) OR high pressure

3+2

33

(i) cannizaro reaction
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32

(a) (i)due to nascent hydrogen.
(ii)(resonance in SO2 MOLECULE,STRUCTURES PREFERABLY
(i) CI2>Br2>F2>12
b.(i) 3Cl;+6NaOH --—-=>5NaCl+NaCl03+3H,0
(if) 3Cu+8HNO3:.... 3Cu(NO3)2+2NO+4H,0 ( no marks should be deducted for
balancing)

OR
(a)
To find covalence draw the structure of NO; and count the number of
bonds formed by each N atom, which is equal to its covalence,

Hence the covalency is 4

(ii)XeF4
(iii)
Solution. The difference in electronegativity values of O(3.5) and

H(2.1) is more than the difference between the electrbnegativity
values of H(2.1) and S(2.5) i.e., O—H bond is more polar than S—H

bond. That is why H-bonding is present among water molecules hut
absent in H,S . Thus, strong intermolecular interactions cause water to
exist as a liquid but due to weak van der Waals' forces H,S exists as a

gas. :
---H—-?---H—?---H-—-—?
H H H

(iv) Due to small size of fluorine six F ~ ion can be accomodated
around sulphur whereas chloride ion is comparatively larger in
size, therefore, there will be interionicrepulsion.

(v) low temp (700K) OR high pressure

3+2

33

(i) cannizaro reaction
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frfeRad Fewl & «aH | e |

() 399 T H 33 ged & | 91 ue arfvard €|

(i) TU€ U : U WA 1 9 2 IR THAIR] dlel dA—IAMETRT U9 & I BRI — I
MY T R TR BT GhR P U9 & | Udd & 1 3h ¢ |

(i) WUS U : U 3 W 16 Ig[dbedl 3R BRI AMHAT UBR & U 8 (oTH IAd Bl
1 3@ |

(iv) @vs & : U R 17 ¥ 25 Y IO U T 3R UAS b 2 3P B |

(v) U Al : U G126 ¥ 30 ofg SR U B IR IS & 3 3 2 |

(vi) TS I : U W 31 W 33 QY IR U & oI H H TP H 5 3P ¢ |

(vii) B3 FHT fddHey 81 8 | Telifh, MdR® fddhed ya fdhy 1Y § |

(viii)y DAGCY B ITATT B JFART T 2 |

General Instructions —
Read the following instructions carefully.

[965]

(i)
(ii)

(vi)
(vii)

There are 33 questions in this question paper. All question are compulsory.
Section A : Q. No. 1 to 2 are case-based questions having four MCQs or
Reason — Assertion type based on given passage each carrying 1 mark.
Section A : Question 3 to 16 are MCQs and Reason Assertion type
questions carrying 1 marks each.

Section B: Q. No. 17 to 25 are short answer questions and carry 2 marks
each.

Section C: Q. No. 26 to 30 are short answer questions and carry 3 marks
each.

Section D: Q. No. 31 to 33 are long answer questions carrying 5 marks
each.

There is no overall choice. However, internal choices have been provided.

(viii) Use of calculators is not permitted.
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Yls — {
Section — A
DY TSI IR Fe: MRS fAheq & 1T < U2 & | IR & MR W PIg
TH B P AR A AT Y U & IR § —
T4 TP selagidise @l Aigdl Y O Ugd oIl &, Al Al arelddl Bl
AT AR aTeidar & ®Y H SIHT ST 8| ®lgeriel & 99 wear & &
goldglclise &l WHid AleR dTdddhdl Bl soldgldise & UFR-Al IR RO &
FfFTTT ARG & AT & HY H SATIT ST Fhall 2 |
IH AR R, I} OO R Ue goldcioise 99R—AT 3R KO-l &l
I HAT 7, Al 96 AT AleR areddbdl Ay =V, Ay + Vo AL §RT &
B Al &, TP SUAN Gaol [dgd—araeed &1 Arid AleR areadhdl Bl Eiol
@ forg faram Smar 2|
1. () NaCl, HCI 3R NaAc @I {Hid Aok ATeAdhdl 120.4, 4259 3R 91 Scm2mol ™
& A E1 HAc @& forg /19 ar g =nfeg?
(W) 390.5 Scm?mol’
(@) 396.5 Scm2mol"
(@) 310.2 Scm2mol”
@) fraiRa 98 faar ST A
CASE BASED QUESTION : There are two questions with internal choice.
Do any one based on the paragraph and answer the question that follows-
When concentration of an electrolyte approaches zero, the molar conductivity
is known as limiting molar conductivity. Kohlrausch law states that the limiting
molar conductivity of an electrolyte can be represented as the sum of the
individual contributions of cation and anion of the electrolyte.
In general, if an electrolyte on dissociation gives cations and anions, then its
limiting molar conductivity is givenby A, =v A, + v_ AL
It is used to find the limiting molar conductivity of weak electrolyte.
(i)  Given the limiting molar conductivities of NaCl, HCI and NaAc are
120.4, 425.9 and 91 Scm?mol-'. What should be the value for HAc?
(@) 390.5 Scm?mol!
(b) 396.5 Scm?mol’
(c) 310.2 Scm?mol’
(d)

d) Cannot be determined
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[965]

FrfoRed U® U9 # M@ & U@ $9F 3R S 918 SR BT TH HIF
e mar 7| R Ry Y Rfevedt #§ @ 98 e &1 99+ Sy |
(A) SW®H 3R R SFT A & AR BROT, AT D] Hel AR 3 |
(B) M@ IR HRUT THI Fel & olfhd BRI HAT &I Fel ARAT el PRl
g |
) BT T B IR BRI A 2 |
(D) <fIHYT IR HRUT SFI TAd £ |
) BT Ted & Afh BRI 99 &
) SIW®HUE : Wigdl 9gM & A1 A1 (Bl fga—suecy (seidgldgey)
oI fafre ararswdr gedl & STafd Aok aredhdr 9edl © |

HROT : fafkrse =retepdr fdgjd—siuacy (gelaciciged) & fafdre arm=r
BT AdlAd § Odid AleR  dladdl (AR ® )
SdgIdge & U Al & folg & |

(iii) @ : AT TTAHAT T BT A Tod (T BICT) ISEH ISUANT B
aTel Setagie @ yard @I Udfd wR R BRar 2
PRT : gAIHRU TId  (UIeRTSoR ghae) | daM & oy dd &
goIdcIS Bl WifeTq i & A1 offdd far Sirem 2 |

In each of the following questions a statement of assertion followed by

a statement of reason is given. Choose the correct option out of the

following options given below.

(A) Both assertion and reason are true and the reason is the correct

explanation of the assertion.

(B) Both assertion and reason are true but reason is not a correct

explanation of the assertion.

C) Assertion is true but reason is false.

(D) Both the assertion and reason are false.

E) Assertion is false but reason is true.

i) Assertion: Specific conductance of all electrolytes decrease with
increases in concentration, whereas molar conductivity
increases.

Reason: Specific conductivity is the conductance of specific
amount of electrolyte whereas molar conductivity is for
one mole of electrolyte.

(i) Assertion: The cell constant of conductivity cell depends on the
nature of material of electrode.
Reason: The electrodes of the cell are coated with platinum black
to avoid polarization effect.
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2.  TIBIS PEBIESC B Thd 3Ps 8, THld H I8 Ubdl AT AYdd wU F IR
ST 8, I8 U gY I & ITATdT 379 Hedl U W8S H YR AET H UrT S g,
g R I HaI¥d IR S dTel e AIfd #§ F Th 2, Te[dlel dl Al
®I TR Tl & MR WR SIfEm ST Fehdll & —

(i)

(i)

(iv)

THI o UBR @l THT 22
(@ YsgRe @ @) R PR @
GURCISINERES] SRR IRRISEINES]
DTS B AT H 5-OH A8 © BT B A1 AMWfhar g ol &7
Q) oISt @I AAfHAT HI & AT
THI @ Afwfrar s TERSEe @ |

) TDIST &Y JAMAHAT Bro B AT

SN)  TDIST B AMATHAT NH,OH & =72

haciel H AlG[g BRIID A8 © —

@ wifeafers vRis @) uleems

(¥) Prer SHREEIER!

H & ATED gor # W BT b v BT 87
@ wRES (@) ORI
GURIENEIS (€) SWIad # A P &l

Glucose is a monosaccharide carbohydrate. It occurs freely in nature as well
as in the combined form. It is present in large amount in sweet fruits and
honey; ripe grapes also contain glucose. It is probably the most abundant
organic compound on earth. Glucose structure can be studied on the basis
of many following evidences—

(i)

(if)

Glucose is which type of Sugar?

(a) Reducing Sugar (b) Non reducing Sugar

(c) Polysaccharide (d) Oligosaccharide

The reaction of glucose which proves that it has 5 —OH groups in its
structure -

(@) With HI (b)  With acetic anhydride

(c) With Brz2 (d) With NH20H

The functional group present in fructose is -

(a) Carboxylic acid (b) Aldehyde

(c) Ketone (d) Amine

Glucose in cyclic form contains a heterocyclic ring of -

(@) Furanose (b) Pyrrole

(c) Pyranose (d) None of the above
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3rerar / OR

OIS o - T YRS & 9801 BId & IR I ULTgS dive ¥ s 8 & | 3=
JAMUIAd SFHM aTel 3R Y fARME a1 dTel Ulellueigs &l Ul dal Sl
g UIEH &1 GREeT iR MHR &I 0T IR Wkl O fhar S A6 81 3 'R
grIfie, A, T IR agid © 3R IS WR [Usd U &I Jal H Ald
Sfed 7|

(i)

(if)

(i)

[965]

HHIT: MATHR IR WER U BT Th IS0 8 —
(Q) g4 Sl A

) VoA SR ggferd

FR1fe 3R AR

urIAe 3R Argfids

QIcE @ fgdiae G¥e & 1 9 UK & —
@) MATP IR IR—MALISH AT TRIS

(@) <Y R JARYY

@) o - 2fera 3R B - wilcs e

(@) SrPUEES IR SRUCES

(

)
S

(@) =fFerareEsy

9 U @ 37, &R & AT IfAfhar @ Sl § a1 1 e Sar § a9
X PEd o

(%) fagpdiever (Srgwm)

@) UEH @ Arafie Sa § aRada

(*) srPrgierT

@) Swrad a9
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Proteins are polymers of o - amino acids and these are connected by peptide
bond. A polypeptide having higher molecular mass and having a specific
structure is called protein. Structure and shapes of protein can be studied at
four levels. These levels are primary, secondary, tertiary and quaternary and
each level being more complex than the previous one.
(i) Example of Globular and fibrous protein respectively are -

(@) Insulin and Myosin

(b) Albumin and Insulin

(c) Keratin and myosin

(d) Primary and secondary
(i)  The two common types of secondary structure of proteins are -

(a) Essential and Non-essential amino acids

(b) DNA and RNA

(c) o-helix and B-pleated sheet

(d) Dipeptide and tripeptide
(iii) Proteins are the polymers of............

(@) Amino acid

(b) Nucleic acids

(c) Lipids

(d) Nucleotides
(iv) When protein are treated with acid, bases or are heated they undergo-

(a) Denaturation

(b) Change in secondary structure of protein

(c) Uncoiling

(d) All of the above
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3. U fhecel™ o |, U¥A C &l o+ dolial UfbT # gafRerd fhar <idr 2 |
AT A 50% Tghed I RiGTAT (Colegel digsd) 8R4 & Ud 9910 B ICh b

Rfaqal @lacegd dIss¥) & 50% AN W URIT oAl 2 | 39 o uaref & g
(PT¥etT) FT BRTT?

(@ ABC: (@) A2BC:

(1) ABC ($1) AsBC

In crystalline solid, anion C are arranged in cubic close packing. Cation A
occupy 50% of the tetrahedral voids and cation B occupy 50% of the

octahedral voids. What is the formula of the solid?

(@) ABC:z (b) A:BCz
(c) ABC (d) AsBC
3rerar / OR
U 3d: Dfrad O AT (bee) H RaT WA BT e =
(¥ 32 (@) 68
() 74 &) 52

The percentage of empty space in a body centred cubic arrangement is

(@) 32 (b) 68
(c) 74 (d) 52
4,  TGMAMTH (Al) cop ARET H fohieelldpd BIAT 2 | 3AD! GTfcad a1 125 pm ¢ |
P ol fHIR B ofars gFfl —
@ 355.3pm @) 225pm
(¥ 205.8 pm S) 119.2 pm

Aluminium (Al) crystallizes in ccp structure. Its metallic radius is 125 pm. Its
length of the side of the unit cell will be —

(a) 355.3pm (b) 225 pm

(c) 205.8 pm (d) 119.2 pm
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3rerar / OR
AgBr # f # & PIaT QI (AT Q) B Adhal 27
@ wad
@) sifeca
@) IR—<gfHeifed qw
€) @ &R (@) SHI & F&hd &

In AgBr which of the following defect can occur —

(a) Frenkel
(b) Schottky
(c) Non-stoichiometric defect

(d) Both (a) and (b) can occur
5. U SAISIHHBA Ul SAdSIASCd Ul Bl dvg FdeR B Fhdl & ofd ...oo......
@ Ec=0
(@) Ecell > Eext
(@) Eext > Ecen
(S1) Ecell = Eext
An electrochemical cell can behave like an electrolytic cell when .................

(@) Ecen=0
(b) Ecell > Eext
() Eext> Ecel
(d) Ecell = Eext
6. fr=foRaa & | foad Whed (BI-TereH) A 8 &7
() UerguE
(@) Seer BT ToA

(1) fhel gRT Uil BT YlGdHRor
S) DR TRISS & YANT A G BT AFHT g1

Which one of the following does not involve coagulation?
(a) Peptization

(b) Formation of Delta
(c) Purification of water by Alum
(d) Blood clotting by use of ferric chloride
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@) == gerelied arell 19 & foy ifdew
@ A B o Rer

(&) ®H gerreiiaar arell i & forq arfer®
@) A @ gerefiear & Gdfta 78 2

The value of Henry’s constant KH is .................

(a) Greater for gases with higher solubility
(b) Constant for all gases

(c) Greater for gases with lower solubility
(d) Not related to the solubility of gases
S 22T TaRTSS (XeFs) BT 3R & —

@ =gEhe (Coesd)

@) =R fORfegar

&) R @R (@ FHde)

(€1) SWRIad H | B el

The shape of Xenon tetra fluoride (XeF4) is —

(@) Tetrahedral

(b) Square pyramidal

(c) Square planar

(d) None of the above

153 998 & dcdl & gATH ARG TRES 8 —

(@) NHs

(@) PHs

(@) BiHs

(81) AsHs3

The least basic hydride of 15" group elements is —
(@) NHs

(b) PHs

(c) BiHs
(d) AsHs
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gerar/ OR
154 W & al BT |aid Wl 81gsss 8 —

(W) NHs (@) PHs

(@) BiHs (1) AsHs

The most stable hydride of 15™ group elements is —

(@) NHs (b) PHs

(c) BiHs (d) AsHs

BRI [Co(en)z Br]Cly § BlaTec B AT TRAT (HI—fS3 aR) & —
@ 4 @) 6

@) 5 S

The coordination number of cobalt in complex [Co(en)z2Br2]Clz is —
(a) 4 (b) 6

(c) 5 (d) 2

Which complex of Nickel is paramagnetic in nature?
(@) Ke[NiCla]

(b)  Kz[Ni(CN)q]

(€) Ke[Ni(CO)4]

(d) [Ni(NH3)4]Cl2

el BT BT Diciad (ARTe) Tggaaid UPpfa &1 87?
) Ke[NiCla]

) Kz[Ni(CN)d]

) K2[Ni(CO)4]

) [Ni(NH3)4]Cla

FfeRad # | B9 SIWAY H Aigg el 2?

@
(@
Gl
S
4

\/
~

TS

RCIEE]
) R

SHRSIEEINE]
Which of the following is not present in DNA?
(a) Adenine

(b) Guanine
(c) Uracil

(d) Cytosine

\
Q)
(
(
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14.

(@) 8 org > T

Nucleic acids are polymers of —

(@) Nucleotides

(b) Nucleosides

(c) Proteins

(d) Nuclei of heavy metal

TehTgd FARISS BT FIAYUT a9 3BT fhdqd gRT fohar Srar 287
@ foads ufifhar

(@) wfcHd Aoy

&) wr fsHar ufafoa

(¥1) HAeHR @1 gfafsar

The synthesis of Alkyl Fluoride is best accomplished by —
(a) Finkelstein reaction

(b) Swarts synthesis

(c) Free radical reaction

(d) Sandmeyer’s reaction

3erar/ OR
g o] @ g0 yfafde (o1 Bfd) S99 W ARG T8 ekl 8, RRa &)
BEATT B | ITH A DITAT U oRA TBHfd BT &7

@ 2 — FH e
@) 1 — FH =geA
@) 2 — s

€) 2 — gHYUT — 2 — YA

Molecules whose mirror images are non superimposable over them are
known as chiral. Which one of them is chiral in nature?

(@) 2 - Bromo butane

) 1 —Bromo butane

) 2 —Bromopropane

) 2 — Bromopropan -2 — ol

QO

b

(¢)

(
(
(d

[965] Page 12 of 24



15.

uvs — 3
Section A — (Reason Assertion Type)
frfeiRaa 9® U= 15 3R U 16 # MW@ &1 HIF IR D 918 RO BT
o fam T ¥ AR Ry U et ¥ ¥ 9 Rew @ &, @ S A g)

In each of the following questions Qs. 15 and Qs. 16, a statement of

assertion followed by a statement of reason is given. Choose the
correct option (A, B, C, D or E) out of the following options given below.

IMHAT : W NaCl @I SrCl@ A1 e Sar & dF I8 aiggdl aly
(EFIRS fewae) Uar o=ar 2|
PHRT UH Sr2* I Sedd (offed) | Udh Nar 3mad &l ufoRenfid &

HHAT T |
(A) SMH 3R R SFT A & AR BROT, AT B Hel AR 3 |
(B) 3if®HAT IR SR AT Hel & <Ifhd BRI, HAT DI He| ARAT A8l Bl
g
(C) <IfHe ¥ & WRg HRIT 3T 2 |
(D) <fIHYT IR HRUT SF TAd £ |
(E) 3fWded TTed & oifdhd HRUT 94 B |

Assertion: When NaCl is doped with SrClz it produces impurity defect.

Reason: One Sr2* ion can replace one Na* ion from its lattice.

(A) Both assertion and reason are true and the reason is the correct
explanation of the assertion.

(B) Both assertion and reason are true but reason is not a correct
explanation of the assertion.

(C) Assertion is true but reason is false.

(D) Both the assertion and reason are false.

(E) Assertion is false but reason is true.
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16.

[965]

IMBIT :  TH Plalssa Al YHIY ®l foeRar g eafd v amg faea=

UAT 94919 el e § |

HRT : Uh Plllssd AGfdd § I gcdh & HU Tdh AENY T &l

CiC

(E)

i # &5 wfa & foefier 8 2|

fp 3R HRUT ST I 2 3N BRI, HAT P I ARAT 2 |
IAHUT 3R HROT ST Tl § oAb BRU, HAFT B Fal IRIT o] Bl
2

AP T & IR BRI A ¢ |

B 3R HROT ST Terd 2 |

BT Told & oifhT BRI T 2 |

Assertion: A colloidal sol scatters light but a true solution does not.
Reason: The particles in a colloidal sol move slowly than in a true

solution.

Both assertion and reason are true and the reason is the correct
explanation of the assertion.

Both assertion and reason are true but reason is not a correct
explanation of the assertion.

Assertion is true but reason is false.

Both the assertion and reason are false.

Assertion is false but reason is true.

gerar/ OR

AMBAT :  FUTHD Al & oy AR+ P Thad Wfdd (BT ureR) Nar i

P 2|

PR : FATRIATCT ST BT FATSTdal fora ffed Bl 3, I 81 AT

G

o

IR ST~ HRA BT eHaT Bl 2 |

NPT 3R R SHI T & R BRI, $AT &I A8 ARAT 8 |
JIMABAT IR HRUT Gl el & ol BRI, HAF B el ARAT el Bl
=

JIHHYT T & UG BROT TAT 2 |

AP R BRI AT Terd & |

AADBAT TeTd 8 Afhd HROT 94 2 |
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Assertion: Coagulation power of AI** is more than Na* for a negative sol.
Reason: Greater the valency of the flocculating ion added, greater is

its power to cause precipitation.

(A) Both assertion and reason are true and the reason is the correct
explanation of the assertion.
(B) Both assertion and reason are true but reason is not a correct
explanation of the assertion.
(C) Assertion is true but reason is false.
(D) Both the assertion and reason are false.
(E) Assertion is false but reason is true.
yus — §
Section - B
17.  CsHsCHoCl 3R CeHsCH(CI)CsHs & & ®IF 3MIFI | Oial emuEfed (BISsligvs)
g ST B IR Fl?
Out of CeHsCH2Cl and CeHsCH(CI)CeHs which is easily hydrolysed and why?
18. 3Icdhigdd A UehI &I 9 &I Ulshar # fhamfafer &1 A= ==oi @& #em 9
e e Fewl (9 W) I S Y T3NSy |

Write the mechanism with necessary steps and bond arrow movement to

convert alcohol to alkene.

19. IRIfeIRad G USTS & WUl Bl 2 TRON H JA™IG JAHARN & AegH
q Fad d |
@ doize TS 3 dfeserss
@ vIAHIES ¥ fRersd Jediwd

Bring about the conversion in not more than 2 steps of the given chemical

substances.
(a) Benzoic acid to benzaldehyde

(b) Ethanamide to methyl alcohol
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20.

21.

3erar/ OR
ffoRad e gl # idR &1 W w1 @ forg e I st
faRay —
@ dofeserss ok wiieH
@) wiffe tfrs sk vRifes TS
Give a distinguishing chemical test for distinguishing between the given
chemical substances—
(a) Benzaldehyde and acetone
(b) Formic acid and acetic acid
frforRad &1 g9 g afttd faeivdret @ gcd 8 & JaRkerd dy—
(@  CHsNHa,(CHs)2aNH,(CHa)sN (STl A # eI hH)
(@) CsHsNHz, (C2Hs)2NH, C2HsNH; (ﬁéw)

Arrange the following in the decreasing order of characteristics mentioned

against it.
(@) CHsNH2,(CHs)2NH,(CHs)sN .................. (basic character in aq. solution)
(b) CeHsNH2, (C2Hs)2NH, C2HsNHz .................... (Solubility)

IREIT UTaReIT & HU & DR B AR IR Blcdiiss bl [bd YbR aifidd fdbar
SISIR-T
How are colloids classified on the basis of size of the particles of dispersed
phase?
st/ OR
WL PN —
@ @1 BAT & 9 el dreifssd e @1 faga uRers & <@ oiar 87
@) wH &R 7 & Ao W R Seel D a9dT &7
Explain why —

(a) What happens when electric field is applied to a colloidal solution?

(b) How is delta formed at the meeting place of sea and river?
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22.

23.

24.

A B EMF &1 o1 o R srrferRRad srfifsar gt 8—

Ni(s) + 2Ag* (0.002M) — Ni2* (0.160M) + 2Ag(s)

[fear a1 & f&% E° cell = 1.05V, R = 8.314 J/K/mol, F = 96500 C/mol]

Calculate the EMF of the cell in which the following reaction takes place —

Ni(s) + 2Ag* (0.002M) — Ni2* (0.160M) + 2Ag(s)

[Given that E° cell = 1.05V, R = 8.314 J/K/mol, F = 96500 C/mol]

(a) Cu*' STl e | Rer 21 &, @ai?

(o) foHeT aTg & ITaaH ATRITDHROT TR, HAEId o1 & A8 S AR TARSS
H & i yelRia Bkl &7

(@) Why Cu+'is not stable in aqueous solution?

(b) Why is highest oxidation state of a metal exhibited in its oxides and

fluorides only?

3rerar / OR
W HRY —
(@) Cu ®T E® = + 0.34V 8, W&k Zn HTE°=-0.76V &, Fil?
(b) HHHOT Tedl DI MARITHROT TARRJAT D GG+ D A1, HAHHAY dcdl & 2allgS
SITET eSO YBR (Plaeie TaR) & B I 8, FRIj?
Explain why-
(@) EO of Cuis +0.34V while that of Zn is — 0.76V. Explain.

(b) The halides of transition elements become more covalent with
increasing oxidation state of the metal. Why?

@) HHAY Grqell B SHRAIHRTT W 9g7 b A gAlSS oAl dg |dArel!
UHR & B I B, a7

@) Cu*3 Mn*2, Ti*®, Sc*® H | BIF I ST JeH &7

(@) The halides of transition elements become more covalent with
increasing oxidation number of the metal. Why?

(b) Out of Cu*?, Mn*?, Ti*3, Sc*3 ions, which is colourless?
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25.

26.

27.

PR Afed UTIRIT BT I 3Pl U & AR IR g6 8¢ HH § FaRerd
HRY —

(U, ST SR fOheTe)

Arrange the following in increasing order of acidity and give reasons for your
answer —

(Water, ethanol and phenol)
3rerar / OR
ey U e aRacs & fog U@ sifvede ([Igeic) &1 gsia iy —
() sl & g
CHRRCEICIRCRIEEINEE

Suggest a reagent to convert the following chemical changes—

(a) Ethanol to ethanal
(b) Ethanol to ethanoic acid
gus — ¥l
Section - C
(a) Reraarll s &1 ye IR Alkd aR¥d HRY |
(b) S YA B AT B RTHH 54 T DI (CeHi206) 250g T H
gol & SURIA OS¢ (TSl 81 Q) | (a1 & oIy Kf = 1.86K mol fesarm)

(a) Define maximum boiling azeotropes with example.

(b) Calculate the temperature at which a solution containing 54g of
glucose, (CsH120s), in 250 g of water will freeze. (Kf for water = 1.86K
mol' kg)

(a) Fe? 39 &I gar= H Cr2* ¥4 3 ReR (reducing) &7 57

(b) <loFTgS Hage T €7 U U TR (99Td) Bl AR |

(@) Why Cr?* is stronger reducing than Fe?+?

(b)

What is lanthanide contraction? Write its one consequence.
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3rerar / OR

PR SIFTU—

@

HHHUT T URATI[HRY] (TEFATSOIe) @) Sed Tl qoifd & |

@) HhHAY T@ Sed WR B Slfed ANPHD ¢ |

() AT T uRadHg JATaRATHR0T | T & |
Explain why -
(a) Transition elements show high enthalpy of atomization.
(b) Transition elements are good complexing agent.
(c) Transition elements show variable oxidation state.
28. (a) Ks[Fe(CN)e] &1 Mg Ul uHlL (IUPAC) M forRRay |
(b) forea uRem Rigid (dRcd Wics ONY) B FEIAT | ICHADIT HIFetdd

(a)
(b)

[965]

AfTe © forv TafeiT & A1 oy forF g9 |
Write IUPAC name of Kz[Fe(CN)e].
Draw complete figure with labelling to show splitting diagram of

octahedral complexes as per crystal field theory.

3erar / OR
HATSTadT e G BT ST dd gy, MR U Y Sivelad &
[Co(NH3)6]*® & Hdel BT SRS BN —

(i)  FeT HBRUT BT UDBN
(i) oNaR® a7 9= Hef Hirerad
(i) FFPI FIER

Using valence bond theory, explain the following is relation to the

complex given below: [Co(NH3)e]*3
(i)  Type of hybridization
(i) Inner of outer orbital complex

(iii) Magnetic behaviour
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29.

30.

(A) faewT fgyga smeel 9ed f¥® BT § ... CHzClz, CHCIs, CCl4
(B) STTH W DM Toil ¥ UAUA 2 UfIhar | I[oRal § —

(2 —sMT 2 R JcA, 2 — 9Mr UcH, 1 — S UcH)
(C) fr=afaRad # | ®IM SN1 TSl I JoIRal 8—

-

(@) Which has the highest dipole moment ..... CHzCl2, CHCls, CCl4
(b) Which of them undergoes SN2 reaction faster.

(2-bromo 2-methyl butane, 2-bromo pentane,1-bromo pentane)
() Which of the following undergoes SN1 faster

Cl Cl
J\ " \)\/

frferRaa & e siforar @ Jeraar & aRafidd ax—
@ ArsgiEsi | gRiererss
@) uRierfvegs 9 4 Arsgr vHferd
(&) gvEE | U

Convert the following with the help of chemical reaction -
(@) Nitrobenzene to acetanilide
(b) Acetanilide to 4 nitro aniline
(c) Propanone to propene

3rerar / OR

@ o9 @AY & forv SUANT fhy ST arel AgefeT fasr § H.S0, 3t

F7 qfAdT 2?

@) TSI B A Ut Yo & -NH, T8 &I thifeelcs fdhar Smar 7, &i?
(1) <@ ferer CHCl; 3R NaOH & 1 Ufdfshar &xar &, df diF 1 ST

g1 87

(@) What is the role of H2SOs4 in the nitrating mixture used for nitration of

benzene?

(b)  Why is -NHz group of aniline acetylated before carrying out nitration?
(c) Whatis the product formed when phenol reacts with CHCIls and NaOH?

[965] Page 20 of 24



s — S

Section - D
31. @ e NRe Affhar R—P & forg, drsar (R) vd 993 (1) v 7T umH
IR TTAE T8 T—
®) \
t ——>
gfafehar @& HA BT Ffasgaroll wx | JIWiHAT Pifc P Y=g | 9% & T
(FlTT) T eIET 87 W HIfoTY |
@) A@ffre A IR B F=foRaa e FHaReT & STTAR Ufifhar -d ¢ |
A(g) + 2B (9) — 2C (9)
AT B H ¥ [ Ta &1 Aradl &I ReR I g Siffshar @ v, ik
Rerie wd &1 18 diferdt @1 Ae™@ar & Sad AIfifehar @ oy ATd B @
et AfAfhar dife Afed Here Ifshar <% s &1 rad a7 |
Experiment | Initial concentration | Initial concentration | Initial rate of
of [A)/mol L™ of [B)/mol L formation of [C]/mol
L1gt
0.30 0.30 0.10
0.30 0.60 0.40
3 0.60 0.30 0.20

(a)

[965]

For a chemical reaction R—P, the variation in the concentration (R) vs time

(t) plot is given as -

1

(R)

S

t —P

Predict the order of the reaction.

What is the slope of the curve?
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32.

[965]

Compounds ‘A’ and ‘B’ react according to the following chemical equation
A(9)+2B(9) -—2C (9).

Concentration of either ‘A’ or ‘B’ were changed keeping the concentration of
one of the reactants constant and rates were measured as a function of

initial concentration. Following result were obtained-

Experiment | Initial concentration | Initial concentration | Initial rate of
of [Al/mol L™ of [B/mol L formation of [C]/mol
RES

1 0.30 0.30 0.10

2 0.30 0.60 0.40

3 0.60 0.30 0.20

Find out the order with respect to A and B and write rate law of expression.
3rerar / OR

gorq Pife &I ifAfehar &1 <X ReRid 1.15 x 103 S8 | 59 AMHRD BT 59 A
3g % faafed 8 # fha=n @7 R
Uh S AfAfHDT A + B — (SAE) & forg, ififosar <%, R= KA]BIP? &, 39
IR W T Ig TP TIAfHd AT (Teiiidl Ruaer) 8 Fadl 87 T o |
T U aRRfT e &Ry s dgd va fg—anmifde sifafear, it sifafsar
M & AR I8 Yo dife &1 aiffea 2|
A first order reaction has a rate constant 1.15 x 10-3 s, How long will 5g of
this reactant take to reduce to 3g?
For a reaction A + B — Products, the rate law is; Rate = K[A][B]®? can the
reaction be an elementary reaction? Explain.
State a condition under which a bimolecular reaction is kinetically first order
reaction.
@ BRI T HIFTI—
(i) O wfdaerell fRiIeRS AHHD T, Fl?
(i) SO 37 # &I S-O IMME A B[ 8, FI?
(i) fr=ferRag & 39 99 fagoe il @ ged HH H JaRerd &y
F2, Cl2, Brz, I2
feIRad ! qof It ifafshar forRay —
(i) T 3R AT NaOH & W1 Clp BT i frar Srar 2 |
(i) Cuemg & I HNO,; # fAaTrar S 2 |
Give reason —
(i)  Why Os is powerful oxidizing agent?
(i) Why two S-O bonds are equal in SO2 molecule?
(iii)  Arrange the following in decreasing order of their bond
dissociation energy F2, Clz, Brz, I2
Write complete reaction when -
(i) Clz2is added to hot and cone. NaOH.
(i)  Dil. HNOs3 is added to Cu metal.
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33.

[965]

Jgar/ OR
N2Os H AATSSIoE & AgadrsTdhdl fhd 82
T IGE I & oy G IR A1 9918 S {6 ICI4 &1 Jwwed! 57
H.O U& Rel T &, Sidfb H,S 1 &7
UG # SFs ST € oifdhd SClg T8} & | aai?
BIR A AT F frpdd smifr o B @ T IS e uRRerf
Bl forfay |

What is the covalency of nitrogen in N2Os?

Give the formula and structure of a noble gas that is isostructural with
ICI*.

Why H20 is a liquid but H2S is a gas?

SFs is known but SCle is not. why?

Write any one optimum condition to yeild maximum ammonia in Haber’s

process.

ffoRad =M o1 aifaforanett @1 forfay —

(i) SR gfcrfhar

(i)  QosTel e

fr=rfeRaa gfafdsar # AT A, B 3R C &1 Ugda & —

CH, —Br Mg/ether -~ () CO, ®) CH,OH/H* ©
(i) Water A ’

Give the following name reaction -

(i)  Cannizaro reaction

(i)  Aldol condensation

Identify the compounds A, B and C in the following reaction -

(i) CO,
(i1) Water

Mg/ether
—

CH, - Br (A) (B)

CH3OAH/H ©
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(A)

(ii)

serar/ OR
T gt Affras, ‘A’ @moTfads g3 CeHgO) ST o 2, 4-DNP o¥1eTor < & |
TE AR T AT ERsiadge e 9 Afafhar o ) 3iffis B
BT U Ul AdeY I~ Bl © | AMD ‘A’ Shetd IT BIoHT BT uRIeTor el
Ta1 21 Safeh UCRRM WHTHE @ 1Y Yddad SifaRIeIeT IR OIE Uh
Fraifduters YRTS ‘C’ (3MUTfad FF C/HeO,) B STU dRal B, Sl SURIG
gfafhar § Ol erefia At & d1r i 991 21 A, B IR C &I Ugdam
IR s emfier w1 arfiforarall &1 ford |
ferferRaa =™ @1 ifafeaett (@fea Rugem) o1 ford —
(i) = gfafear

(i) drem—fheR Reae™ ufafhar

An aromatic compound ‘A’ (Molecular formula CsHsO) gives positive
2, 4-DNP test. It gives a yellow precipitate of compound ‘B’ on treatment
with lodine and Sodium hydroxide solution. Compound ‘A’ does not give
Tollen’s or Fehling’'s test. On drastic oxidation with potassium
permanganate it forms a carboxylic acid ‘C’ (Molecular formula
C7H602). Which is also formed along with the yellow compound in the
above reaction. ldentify A, B and C and write all the reactions involved.
Write the following name reaction -

(i)  Stephens Reaction

(i)  Wolff-Kishner Reduction Reaction
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968
L IR EC IR

Subject: ACCOUNTANCY

1. c. Profit on the sale of a fixed asset 1
2. c. When, at the time of admission, goollﬂiirl already appears in the balance sheet. | 1
3. b. Subtracted from share capital I
4. Capitalisation of average profit , 1
c. debit side of partners capital accou T 1
5.
d. ¥ 8 Pershare I

6- i
7: d. Profit ¥ 56.000 !
8. e '(d1 EhE ) R T ; = o 1
9. T 4.,000. 1
10 | c) Credited in Old Profit Sharing Ratio 1
11. (c) P&L Suspense account : S 7 [204]
12. (d) All of the above V il
13. ~ ¢) Interest on Partner’s Lo, = 1
14. | Stationery purchased during the year ¥ 47,000 1 e SOEMatks . e

Add: Opening stock of stationery Z 8,000

Creditors at the end of year 211,000 ‘% 1 Marks

Less: Closing Stock of stationery 2 (6.600) =)

Creditors at the beginning of the year I (9.000) 1 Marks

=2 51.000
Or

Computation of Subseriptions
Subscription received during year = ¥ 50,000
Add-

} 1 Marks

1. Advance at beginning 8,000

2. o/s atend 15,000
less — 1 Marks
1. ofs at beginning 20,000 }
2. advance at end 9,000

[968]c-12
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Income a-r-i_(':i”Expendit-u_re.A./c (cr.) S 44,000 1 Marks

15. | Working Note:
Interest on capital
Seema = 1.00.000 x 6/100 + 25,000 x 6/100 x6/12 =6.750 (1Marks)
Meena = 50,000 x6/100+ 10,000 x 6/100 x37/12 =3.150 (1Marks)
Dr Profit & Loss Appropriation A/C
Cr
Particulars  [AmountX | Particulars Amount
To Interest on Capital I By Net Profit 1,68,900
Seema - 6750 !
Meena - 3150 9,900 |
To Net Divisible Profit
Seema — 63,600 !
Meena -63.600
Neena -31.800 1 1.59.0600
- LonesO 1.68.900
(2Marks)
Or
Date l Particulars o L.F |Dr. X Cr.R
2019 | Ajay’s Cap. A/c Dr. 6,400
3 Imarch i Binay’s Cap. A/c D, 2,000
_I ] To Chetan’s Cap. A/c 8.400
Note: Divisible profit of Rs. 76000 (1. 26.000-30.000) is divided Between Ajay and Chetan
in 3:2 after giving minimum guaranteed protit of S6.000 to Binay.
For table showing Adjustment ------- 3 marks
For journal entry ----—---v--mceee oo 1 mark
16. In the Books of .......

Journal Fntries

Date  Partticulars | LF|Dr2 Cr.
i i Bank A/c Dr.. ' 28.500
[Jiscount on Issue of Debentures A ¢ 1r. 1,500
To 12% Debentures \'c E 30.000
(Being debentures issued at | |
discount) |
i Bank A/c Dr.. 1 57,000
Discount on Issue of Debenture A'c Dr.. 3,000
[Loss on Issue of Debenture A/c Dr.. | 3.000
To 12% Debentures A ¢ 1 60,000
To Premium on Redeniption of . 3.000
Debentures A/c |
| (Being debenture 1ssued at discount,
| redeemable at premium)
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[968]c-12

2 +2 =4 Marks
17. Journal Entries
a) Realisation A/c .. Dr. 20,000
To Bank/Cash A/c 20,000
b) Realisation A/c .. Dr. 600
To Ishu’s Capital A/c 600
c) Nishu’s Capital A/c . Dr. 4,700
. To Realisation A/c 4,700
d) Ishu’s Capital A/c .. Dr. 6,000
Nishu’s Capital A/c .. Dr. 4,000
To Detferred Adv. Exp. A/c 10,000
(1*4)=4
marks
8. )
Int on drwings =( 1200+960) 1 mark
Int on capital = (10,000+8,000) 1 mark
A’s salary = 24.000 Imark
B’s commission = 10,000 }
Profit distributed to Alka T 44,550 and Bela 2 35.640 1 mark
19. - INCOME AND EXPENDITURE ACCOUNT o
| EXPENDITURE Amount INCOME Amount
Z Z
Salaries 18,200 | Subscriptions
46100
Rent | 15,000 | Add: o/s 4500 50,600
Printing and E
Stationery 7.300
Expenses on Interest 2,500
Charity Show 16,100
Daonation 6.000
Dep on Furniture 600 | Recerpt from
advertisement in
the vear book
5,200
SURPLUS 7,100 |
o 64,300 | o 64.300
Marks to be awarded step wise or full marks for correct answers.
(A) 3 marks
20. (B) 3 marks
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21.

Selution:
Balance sheetason
| Liabilities N Amount Assets AmountR
Bank Loan 18,000 | Plant 80,000
Creditor | 69.000 | Furniture 30,000
Capital B 1 | Investment 25,000
Vinay 1,10,000 e | stock 36,000
Madan 90,000 | Debtors 34,000
~Sunil 50000 ~ 2.50.000 | Cash 1,32,000
N S XX T 1 3,37,000.
Partners Capital Account
| Vinay | Madan | Sunil Vinay Madan | Sunil
To 20.000 Bal b/d 70000 60000
Investment I
- T T GR 12000 | 6000 | |
I GAW 40000 20000
- N IR 5.0 )|
ToBalc/d | 1.10,000 | 90,000 | 50000 = Rev.profit | 8000 4000
Lcash. 50000
1,30,000 | 90,000 | 50000 _ 1,30,000 | 90,000 | 50000
Revaluation Account
To Stock 10,000 By Plant 14,000
TO partners C;I[Ji.h'.‘l_r I N ]3\ Creditors 3,000
Vinay- 8,000
Madan 4,000 12.000 By Investment 5.000
B o 22000 o 22,000

Revaluation account -3 marks

Partners capital account — 3 marks

Balance sheet — 2 marks

OR

Revaluation account -3 marks

Partners capital account — 3 marks

Balance sheet — 2 marks

[968]c-12
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22. Date Particulars Debit2 Credit2
(i) Bank A/C Dr - 60,000
To Share application A/C 60,000
(being application money received on 2,000 (1/2 Mk)
shares@30)
(i) Share application A/C Dr 60,000
To Share Capital A/C 30.000
To Share allotment A/C 15,000
To Bank A/C 15,000
(being app.moneytfd to share capita! . excess (IMK)
money tfd to share allotment and money returned
on rejected on 500 shares) o
(1i1) Share allotment A/C Dr 70,000
To Share Capital A/C 20,000
To Securities Premium A/C 50,000
(being allotment money made duc) b (172Mk)
(iv) Rank A/C Dr 44,000
Calls-in —arrears A/C Dr 11,000
To Share allotment A/C 55,000
(being allotiment money received c¢xcept on 200 (1 MKk)
shares) R
(v) Share first call A/C Dr 20,000
To Share capital A/C 20.000
(being first call money made due) (2 Mk)
(vi) Bank A/C Dr 16,000
Calls-in-arrears A/C Dr 4,000
To Share first call A/C 20,000
o _(being first call money received) - Mk
(vii) Share capital A/C Dr 14,000
Securities Premium A/C [Dr 10,000
Calls-in- arrears A/C 15,000
Share forfeited A/C 9.000
(Being 200 shares forfeited) i ) (1 Y2 MK)
(viin) Bank A/C Dr 12,000
Share forfeited A/C Dr 2.000
Share Capital A/C 14000
(being 200 shares being re-issucd 60 as Rs70 (1 MKk)
paid) Ca
(xi) Share forfeited A/C Dr 7,000
To Capital Reserve A/C 7,000
(being gain on forfeiture and reissuc transfered (1 Mk)
| to capital reserve)
I I B o
OR
(a) Date | Particulars | Debit? Credit
(i) | Share capital A/C Dr ‘ 20,000
i Calls-in- arrears A/C . 2.000
i Share forfeited A/C | 18,000
(Being 200 shares forfeited) | (1 Mk)
(ii) Bank A/C Dr l 8,000
Share forfeited A/C Dr | 2,000
| Share Capital A/C 10000
[968]c-12 Page 5 of 9




{(being 100 shares being re-issued | (1MKk)
@80 as fully paid) R
(iii) Share forfeited A/C Dr 7,000
To Capital Reserve A/C 7.000
(being gain on forfeiture and (1 Mk)
reissue tfd to capital reserve)
| USRS

Capital Reserve — 18,000 x 100/200 — 9.000(sh.ff credit)

cach \Rs8 Called up. on which allotnent
money of Rs2 and First Call ol Rs3 has not
been received)

Less: sh.(tDr 2.000
1 Capital Reserve _ 7000 _(Mk)
o - . )
Date | Particulars o - _ Debit2 Credit2
(1) Share capital A/C Dr 8.000
To Calls-in- arrears A/C 5,000
1o Share forfeited A/ C 3.000 |
(13eing the forfeiture of 1000 shares of Rs10 (1 %2 MKk) |

| shares transferred to Capital reserve
| Account) |

(ii) Bank A/C Dr 11.000
To Share Capital A/C 10,000
To Securities Premium A C 1.000 [
(Being reissue of 1000 forteited shares fully (12 MK) '
paid up at Rs11 per share) )
(iii) Share forfeited A/C Dr 3.000
To Capital Reserve A/C 3,000
(Being gain on forfeiture and reissue of (1 Mk)

23. C. Outflow "258.000 P . N
24. | TWO (2) vy 1
25. | b.Issue of bonus shares 1
26. d. Allof the above I
1
27, ~b. 278000 !
: = —— i

28. | (A)S5 Times 1
29. |  b. Liquidity ratio 1
30. | Inventory Turnover Ratio = . 3

Cost of Revenue from Operations/ Average Inventory

= 16,80,000 /2.20.000 } 1.5 marks

= 7.64 times

Cost of Revenue irom Operations = Revenue irom Operation + Gross Loss }_
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=16,00,000 + 16 00 000 /5% 10 1.5
marks

="16,80,000

OR

Interest Coverage Ratio =

Net Profit before Interest and Tax/Fixed Interest Charges

Net Profit after tax =" 1.20,000

Tax rate = 40% 1.5 marks

Net Profit before tax =~ 1,20,000 =100/60

="2,00,000

Interest on 12% long-term debt i.e.,

12/100= " 20,00,000 =" 2,40,000

Profit before Interest and Tax = 2,00,000 + 2 40,000 — 4,40,000 1.5 marks
Interest Coverage Ratio =

4,40,000/ 2,40,000

= 1.833 times

31. COMPARATIVE STATEMENT OF PROFIT & LOSS
For the years ended 31° March 2019 and 2020
Particulars | Note | 2018-19% | 2019-20 Absolute Percentage
No. (R) 1 R Change Change
(o)

(i) Revenue from 34,00.000 | 75,00,000 | 41,00,000 120.59
Operations _!
(i) Add: other !

income 3.00.000 © 1,50,000 | (1.50.000) 50

(iii) Total Revenue i

(i)+(ii) 37,U(J.II11;’(3__'_____7(),50,000 39,50,000 106.76
— —= @
(iv) Less: Expenses ) | N
Emplovee 7 ].
Benefit | | 2220000 | 1590,000 | 23.70.000 106.76
Expenses Pl
Other Expenses 2,22.000 | 4,59,000 | 2.37.000 106.76

Total Expenses 24.42.000 | 50.49,000 [ 26.07.000 106.76
| (v) Profit before Tax 1
(iii)-(iv) 12,58.000 | 26.01,000 13,43,000 106.76
~ (vi) Less: Tax | 629000, 10.40,400 4,11,400 | 6641
(vii) Profit after tax e.:u_uunf:i 5.60.600 | 9.31.600 148.11
OR (i) Capital Reserves — Shareholders Fund : Reserves and surplus
31 (i) Bonds - Non current liabilities : Long Term Borrowings
(iin) Loose Tools — Current assets : Inventory
{iv) Goodwill - Non currentssets : Intangible assets (any 2 1x 2 Mks)

OR
Objectives of financial statement analysis:
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draw meaningful conclusions.

(i)To present the financial data in simplitied and understandable form in order to

(ii) To assess the profitability position and operational efficiency of the business.
(ii1) To help in intra —firm and inter-firm comparison.
(vi)To identify the causes of change in the profitability or financial position of the firm.
(v)To help in forecasting and preparation of budgets. (any two 1x 2 MK)

32

Particulars

I. Cash flow from operating activities:

Net profit before tax (4.00,000-2,00.000)
Adjustment for non cash and non operating
items:

Depreciation

Profit on sale of machinery

Operating profit before working capital changes
Change in current assets and current liabilitics:
Decrease in inventories

Increase in trade receivable

Increase in trade payables

Net cash inflow from operating activities

I1. Cash flow from investing activities:
Sale of plant
Purchase of plant

Net cash used in investing activities

I11. Cash flow [rom financing activities:
Issue of share capital

Net cash inflow from financing activities
IV Net increasc in cash and cash equivalents
V. Opening cash and cash equivalents

VL. Closing cash and cash equivalents

Working Note

| Particulars | Amount

Cash Flow Statement

______E___A_mount(?) Amount(?)
f' 2.00.000
' 30,000
| (10,000) 20,000
It i 2.20.000
! 50,000
i (2.00.000)
i 1.00.000
| (50,000)
' _ 1,70.000
60,000
(2.80,000)

2.20.000)

1,00,000

1.00.000

30,000

80.000

Plant and Machinery Account

Particulars

| Amount

[968]c-12
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To Balance b/d
To Statement of P/L(Profit)
To Bank A/c(Purchase)

3,00.000 | By Bank A/c(Sale)
10.000 By Depreciation Alc
2,80.000 By Balance c/d

5.90.000

60,000
30,000
5,00,000

5,90,000

Cash used in Operating Activities 2 Marks
Cash used in Investing Activities 2 Marks
Cash from Financing Activities 2 Marks

[968]c-12
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ICL IS ECINIEE]
Subject: ACCOUNTANCY

T 1 03 S QUi : 80

Time: 03 Hours Maximum Marks: 80

FUAT S IR o {5 39 ge-uF § gfod ys 1 9 32 £

Je—u3 ¥ gIfed T @1 SR AU MU BIe TR BI BE SR-IRAHT & §& S W ford |

FYAT S IR o {6 39 ge-uF § 32 U ¥ |

PUAT U BT IR [TGT Yo PR I Ugel, U $I HHID A (o |

9 -0 Bl Yed & forv 15 fde &1 993 faar ar 2|

Please check that this question paper contains 1 to 32 printed pages.

Code number given on the right hand side of the question paper should be written on
the title page of the answer-book by the candidate.

Please check that this question paper contains 32 questions.

Please write down the Serial Number of the question before attempting it.

15 minutes time has been allotted to read this question paper.
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9 U UF H QI AN — 37 3R g UMAS 2 | U U5 H 32 U & | @1 U Sifvard
g |

|l IRfEaRt & fo <7 9 ifrard € |

T AT 1 ¥ 13 3R 23 9§ 29 % I Y IR ISR & U ¢ |

T 6T 14 3R 30 Y IR UBR & U © |

T AT 15 ¥ 18 3R 31 Y IR ISR — |l U= 8, ¥ IS & 4 3 ¢ |
T AT 19, 20 3R 32 ETH IR UGR & Y 2| IS U 6 3Dl & T |
Te HRET 21 @R 22 Y ST UBR - || & g € R udd & 8 3fd 2|
B3 T fAwey T8 8| graifes, T &fal @& 2 yeal arR et & 2 Tl iR 37rs
il & 2 Ul H U IMaR® Aeeq ye™ fHar = 7 |

General Instructions -

[968]

This question paper comprises two Parts — A and B. There are 32 questions
in the question paper. All questions are compulsory.

Both the parts are compulsory for all candidates.

Question nos. 1 to 13 and 23 to 29 are very short answer type questions
carrying 1 mark each.

Question nos. 14 and 30 are short answer type — I questions canrryin 3 marks
each.

Question nos. 15 to 18 and 31 are short answer type — Il questions carrying
4 marks each.

Question nos. 19, 20 and 32 are long answer types — | have questions carrying
6 marks each.

Question nos. 21 and 22 are long answer type — Il questions carrying 8 marks
each.

There is no overall choice. However, an internal choice has been provided in
2 questions of three marks. 2 questions of four marks and 2 questions of
eight marks.
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Yvs — 3/ PART-A

IR AMBRI ARIF, RGN UG $FAT Adih

Accounting for Not for Profit Organisation, Partnership and Companies

frfaRad & 9 69 oM iR =g @ # g1 fhar S daar 87 (1)
(a) 3t GuRy &1 Wiig

(b) 3l FURRl WX fhar AT YoiTd g

(c) 3rdel |uRy & fdwh! R o

(d) 3t Uy &l fashi

(a) Purchase of a fixed asset

(b) Capital Expenditure incurred on a fixed asset

(c) Profit on the sale of a fixed asset

(d) Sale of a fixed asset

FreaforRad # 4 b ReIfd # ¢ ARIGR & 991 & 9AY AIRIGRI & YR o™ f[39rer

T BT YART AT ST &7 (1)
a) 9 g7 AR 307 R B @i BT had Ud 9N & ol @ |

b) ¥ AT WEER 307 2y & @i 7E o urar § |

c) TI9 UdY & |HY, doid e # @y ugel 9 B k@i < & E

)

d) 9 TIT FIEER U WG & T BT Adhg H T 2 |

For which of the following situations, the old profit sharing ratio of partners is used

(
(
(
(

at the time of admission of a new partner?

(@) When a new partner brings only a part of his share of goodwill.

(b) When a new partner is not able to bring his share of goodwill.

(c) When, at the time of admission, goodwill already appears in the balance
sheet.

(d) When a new partner brings his share of goodwill in cash.
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ART B T3 Goll H | I AR BT 7 fhar S =mfey? (1)
(a) PR GOl H SArST SATQIT
(b) R Yol A GCSHT ST

(c) dIAM SFGIRAT & wu H fIw@mar g

(d) acHE §URT & w9 H fe@mr g

Amount of money not received out of called up capital is -

(a) Added to share capital

(b) Subtracted from share capital

(c) Shown as current liabilities

(d) Shown as current asset

........................... fafer & dgq, wfd ardfds RIS 4ol IR @adr & golidgd 4o Bl
aiferean € | (1)

Under................. Method, goodwill is the excess of capitalized value of business

over actual capital employed.

THh BH & fd8ed W Hleafd AURT SWARd & Skl & — (1)

() WMRR B S W B Bfee u ¥

(b) el @ & Sfdc uer |
(c) YR & Yot @d & Sfic ue o
(d) TGl @ & hiec el |

On dissolution of a firm fictitious assets are transferred to -
(a) credit side of partners’ capital account

(b) debit side of realisation account

(c) debt side of partners’ capital account

(d) credit side of realisation account
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Uh B 7 10 TIPS & 4,000 IR BT Sd R forar, T )R &1 3 THI 3f1ded

RIRT &7 A BT 7 B 1 599 | 2,000 VAR BT R RS F FHAT b WY A TR
A SN fdHar a7 o1 iR 2,000 T ditca R4 # eiaRd &) fear & or | s
R B AT B R W 39 WRI BT B A IR A T2 e |

(@) 10 uftr TR (b) 9 Tufy IR

(c) 11 Xuf A (d) 8 Tufy IR

A company forfeited 4,000 shares of ¥ 10 each on which application money of ¥ 3
has been paid. Out of these 2,000 shares were reissued as fully paid up and
% 2,000 has been transferred to capital reserve. Calculate the rate at which these
shares were reissued?

(@) 10 Pershare (b) %9 Pershare
(c) 11 Pershare (d) T8 Pershare

el & fdged & ¥9g @t |ufRi 3,00,000 2 SR 9 a9 sl 8§ 1,20,000% |
I aRFARRAT @1 gaell 120% &8 3R agell a9 4,000 T &, O a_gell IR a4 /B
21l —

(a) <™ 60,000 T (b) =1 60,000 T

(c) =1t 56,000 % (d) < 56,000 X

At the time of dissolution total assets are worth ¥ 3,00,000 and external liabilities
are worth ¥ 1,20,000. If assets realised 120% and realisation expenses paid were
% 4,000, then profit/loss on realisation will be -

(a) Profit¥ 60,000 (b) LossX 60,000

(c) LossX56,000 (d) Profit ¥ 56,000

[968] Page 5 of 32
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8. I 3R HFONA T HH H AIEIER & AR ™ — B FAM wY 4 dicd © — (1)

qor T 93
IIA 4 Hufera 4
ENIRK 60,000

Ife deid ¥ie d AR &1 oI 20% 31 ©, a1 #eRI &l ¢ qoid e § b4
qed R fagran sigem?

(a) 44,000% (b) 48,000%

(c) 72,000% (d) 50,000%

Anish and Kunal are partners in a firm sharing profits and losses equally —

Balance Sheet (Extract)
Liabilities 4 Assets £4
Machinery 60,000

If value of machinery in the balance sheet is overvalued by 20%, then at what

value will machinery be shown in new balance sheet?
(a) 44,000 (b) 48,000
(c) 72,000 (d) 50,000
9. T IR TH BHH 2:2:1 & U H AN 3R TN AR HA dTel AR T |

31 @/ 2019 &1 C & g 8 75 | &% A 31 ¥R o1 @@ 98 ax g 9 2|
9y 2018 & forg faspl 6,00,000 T off iR @™ 60,000 I 27| 1 Sa<r 2019 & 31
A 2019 @1 @ & fog 9wl 2,00,000 X oY | IAS ITRIMTGRT DI Jeg HI fofey
TP D AM D BT D DY H SCIININ RS

A, B and C are partners in a firm sharing profits and losses in the ratio of 2:2:1.
On March. 31, 2019, C died. Accounts are closed on December 315t every year.
The sales for the year 2018 were ¥ 6,00,000 and the profits were ¥ 60,000. The
sales for the period January 1%, 2019 to March 315t 2019 were ¥2,00,000. An
amountofT................... will be given to his executors as his share of profits till

the date of death.
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10. P iR &1 Jaifghy & 99g e & e d fRmEae & @1 &1 & 919 fHaer
Seaare A & 9 AR &1 w® A Srge? (1)
(a) dferar srgura # wfiERT & Yol @rdl § ST fdbar S

(o) Y AT — WATSTHRYT IFUTT H ST fHaT QT

() RN &M & dcdR & IIgUTd H ST fham e

(d) <o U H ST fHAT ST |
At the time of retirement, amount remaining in Investment Fluctuation Reserve
after meeting the fall in value of Investment is —
(a) Credited in Sacrificing Ratio
(b) Credited in New Profit Sharing Ratio
(c) Credited in Old Profit Sharing Ratio
(d) Credited in Gaining Ratio
11, 9d 9BRR & M & 2R & I Yol WA H AART & & oy dF—a1 @rar
QI SIrar 87 (1)

(@) <™ AR B FAMISH @1l

(b) ™ 3R B faframT @rar

(c) < iR B Sdq @rar

(d) s & B A &I

Which account is opened to transfer deceased partner’s share of profit to his
capital account?

(a) P & L Adjustment account

(b) P & L Appropriation account

(c) P &L Suspense account

(d) None of the above
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12.

13.

IRIERT & Yoil WA &1 69 e fhar omar g —

(a) YTHSIHT R A & forg
(b) g REG & ETARUT & forg

(c) <Afrd aM @ ERYT & fory

(d) SRET wf F forg

Partners’ capital account is credited when there is —
(a) Profit on revaluation

(b) transfer of general reserve

(c) transfer of accumulated profits

(d) All of the above

v @1 9 —

(@) TEIER ®I HHIYE

(b) WTEIER ®I Ja

(c) WEIRR @ R R AT

(d) WERR 3 Yol W) el
Pick the odd one out -

(@) Commission to partner
(b) Salary to Partner

(c) Interest on Partner’s Loan

(d) Interest on Partner’s capital

[968] Page 8 of 32
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14.

A &1 TS AR & R WR 31 A7, 2020 P GHIG 9N & U T[S B WIed

FoId @ I IR I W H Sfde &I M arell WIFERT @& AR Y ITOFT B | ®3)

01.04.2019 [T %)

31.03.2020 (1R X )

S

8,000

6,000

S ENIC RIS ETIN

9,000

11,000

31 |rd, 2020 &7 G 99 & SRIF WISl T3 WIRT 47,000 T |

T

freforRad SR A 99 2019 - 20 & folU oM 3R g Wid & SHT BT S dTaeil

T BT XTI BT TET B |
I9¥ & IRM U AT

31 9, 2019 BT IHT T

9y 2019-20 & foIU AT <aT

31-3-2019 &7 3H ®U A yIg <l

31-3-2020 b7 IH ®U A YIg @<l

gy 2018-19 & forg 9,000 %

BT FeT I A THRT B |

50,000 X
20,000 %
6,000 X

8,000 X

9,000 X

On the basis of the following information given below, calculate the amount of

stationery to be debited to the Income and Expenditure account of Good Health

Sports Club for the year ended 31t March, 2020.

Particulars 01.04.2019 (Amount ¥) | 31.03.2020 (Amount )
Stock of Stationery 8,000 6,000
Creditors for Stationery 9,000 11,000

Stationery purchased during the year ended 315t March, 2020 was ¥ 47,000.

[968]
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OR

From the following information, calculate the amount of subscription to be credited

to the Income and Expenditure Account for the year 2019 — 20.

Subscriptions received during the year
Subscriptions outstanding on 31st March, 2019
Subscriptions outstanding for the year 2019 — 20
Subscriptions received in Advance on 31-3-2019

Subscriptions received in Advance on 31-3-2020

350,000
320,000
36,000
38,000

9,000

Subscriptions of ¥ 9,000 is still in arrears for the year 2018 -19

15. <11 IR AMT 5 &H FTd a7l Sl S @ i @ ol U ARt BH IS dRe &I
ol fhar Fifes wifRed §7 B gafavoiy 910 T - 8 o | S84 59 foru
1 31 2019 &I 1,00,000 % 3R 50,000 T HI Yol BT ARG &A1 | A1 A 1 &t

fo T 9ot @& U 9FieR @ ©U H WHR A B 3BT Fad I ol [JUY w7 I Fe™
g b SASH 9gd TG AR IERME SRA 2| W9 399 AEEd 2| AR @l

Id 39 YR ofi—

(4)

A1, {97 IR T 2:2:1 & SrguTd H <™ SiR BT ATS AN |

ISl IR &9 @6% Ui 98 Ua fhar g |

Goll @1 Al & HROT, AT A 30 RideR, 2019 &1 25,0003 &1 AR f&ar 3R HiAT

T 1 e, 2020 @1 SAfRad Yol & w9 § 10,000 I &1 AR f&ar| 31 A/ 2020

BT AT I¥ B forv BH BT A 1,68,900 T o |

31 |1 2020 &7 GG 9Y & v o — '1f= fafamT @rdr 99181 |
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a1

351, fag 3R 99 3:3:2 & AU ¥ o™ AR B Fied dTel WIRER o | AEER)

& fog fr=foaRed reum fdg g 8 -

(1) s 3R a7 &1 2000 I ufay foATEl aa+ fear S |

@) ad 8,000 THT HHIYE UM BT THaR o |

@) fa3 @1 50,000 U 99 @ ™Y BT TRST & T oM |

(4) 31 #r€, 2020 & FHC 99 @ g B9 B @ 1,50,000 T o T4 AR
fIerg & raul R AR 6y 97 e, 99 ol =09 & 9 2:2:1 & o/ U
¥ faaRa faar e |

BH B JRDI H IWRIE FARIGH & [ 3faedsd RIS Ufaftc ary & | 3701
P W /U W Q@ |

Seema and Meena decided to start a partnership firm to manufacture low cost
jute bags as plastic bags were creating many environmental problems. They
contributed capitals of ¥ 1,00,000 and ¥ 50,000 on 1st April 2019 for this. Seema
expressed her willingness to admit Neena as a partner without capital, who is
specially abled but very creative and intelligent friend of her. Meena agrees to
this. The terms of partnership were as follows.
(i) Seema, Meena and Neena will share profits in the ratio of 2:2:1.
(ii) Interest on Capital will be provided @ 6% p. a
Due to shortage of Capital, Seema contributed ¥ 25,000 on 30" September
2019 and Meena contributed T 10,000 on 18t January 2020 as additional Capital.
The profit of the firm for the year ended 31st March 2020 was ¥ 1,68,900.
Prepare the Profit and Loss Appropriation account for the year ended 318t

March 2020.
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OR
Ajay, Binay and Chetan were partners sharing profits in the ratio of 3:3:2. The
partnership provided for the following:
(i) Salary of 2,000 per quarter to Ajay and Binay.
(i)  Chetan was entitled to a commission of X 8,000.
(iiiy Binay was guaranteed a profit of 50,000 p.a.
The profit of the firm for the year ended 315t March 2020 was ¥ 1,50,000 which
was distributed among Ajay, Binay and Chetan in the ratio of 2:2:1 without taking
into consideration of the provisions of partnership deed. Pass necessary rectifying

entity for the above adjustments in the books of the firm. Show your work clearly.

16. fa=forRad a™al ®§ oraa ORI &R+ & folu Jfa9dd Hol Ufaftedl gy &y —

(i) 100 39 & 12% fSd=R (30,000 3T T &) 5% & B W IR fby Y

g Sl FFed WR YY1 Hehdl © |

(i) 60,000%,100% & 12% SR 5% & B W ORI fby 7 & &1 105 T W
TG ST Fad 2 |

Pass necessary Journal Entries for the issue of Debentures in the following cases:

(i) 30,000, 12% Debentures of X100 each issued at a discount of 5%
redeemable at par.

(i) 60,000 12% Debentures of I 100 each issued at a discount of 5%

redeemable at ¥ 105.
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17.

18.

97 3R Y] AEIER 2 3R oM —21M $T 3:2 & 3rguTd # dfed & | S BH Bl 6

BHR BT BAAT [bAT & | FURT R a8 TaIRAT Bl ggell @d H WIART B e

AT B |

fFrfaRaa @ Ioen gfaftedl &1 sifeies o —

(a) 20,000 T HT db FT BT YA fHAT ST 2 |

(o) S BT IYSH BT WRT I g8 HIAT o7 s foy I9 6003 &1 HHreE faam
ST & |

(c) J9 5,000 @& AT BT A9 7 4,700 % WR AR IR foram |

(d) SmRfiIg fasmue e @m@r 10,000 T st # few@r fam

Ishu and Nishu are partners sharing profits and losses in the ratio of 3:2. They

have decided to dissolve the firm. Assets and external liabilities have been

transferred to Realisation A/c. Pass the Journal entries to effect the following:

(a) Bank Loan of ¥20,000 is paid off.

(b) Ishu was to bear all expenses of realisation for which she is given a
commission of ¥ 600.

(c) Machinery worth ¥ 5,000 was taken over by Nishu at ¥ 4,700.

(d) Deferred Advertising Expenditure A/c appeared in the books ¥ 10,000.

AP R I 7 1 SRl 2020 BT ARER H FqE™ P& [BAT AR Yol & oy

%aer 1,00,000 % 3R 80,0003 &1 ARG &, WEER! ek @1 6 59 UBR

) ol iR STERU R TS HA: 10% 3R 12% |

(b) 3TPT HI ARG dd= 2000 3R deT ® 10,000 I Ui a8 &7 HHEE el |
() T 3R BIN B II Yoll & FUTT # WATeT fvar ST 2 |

(d) SWRIEd AR A F U 99 & forg @™ 1,30,030 27| 99 & ERM
DT 3R IT BT 3MERT HH: 20,000 T 3R 16,000 T o |

31-12-2020 &I HHIS 81 dTel 99 & forg gofl fefRe ®xad gu o SR g1 fafs=mr
QAT IR PN |

[968] Page 13 of 32
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Alka and Bela started business in partnership on 15t Jan 2020 and contributed

< 1,00,000 and ¥ 80,000 respectively for capital. The term of partnership deed are

as follows —

(a) Interest on capital and drawing @ 10% and 12% respectively.

(b) Alka to get a monthly salary of 2,000 and Bela to get commission of
310,000 p.a.

(c) Profit and loss to be shared in the ratio of their capital

(d) The profit for the year was % 1,30,030 before making the above adjustments.
The drawings during the year were 20,000 and ¥ 16,000 of Alka and Bela
respectively.

Prepare Profit and Loss Appropriation Account assuming capitals are fixed for the

year ended 31-12-2020.

19. 31 #9719 2020 & T 9Y & o7y TR Fold b1 Ui AR ras @rar Frefoiaa
§_

yrfeat R T UGIE] R T
URMWE oY 4,400 | I 18,200
Zar 46,100 | o= 15,000
el 2,500 | BUTS 3R o A 7,300
CRILCATS 12,000 | IRET o &R @ 16,100
Eig] 6,000 | TAHE @4 7,500
9o & forg g 20,000 | e 10,000
e gwdd  H 5,200 | R 6,000
fasmo & ot

sifer oy 16,100
Gyl 96,200 96,200

31 @19 2020 P gH1AT =T 4,500 T o1, AR aer o7 15,000 I o7 |
31 A1 2020 &7 G 9¥ & folv 31 3R Y @Al IR B, Bk § 10% e

B R F I ST TG |
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20.

Following is the Receipts and Payments Account of Star Club for the year ended

31st March 2020.

Receipts AmountX Payments Amount?X
Balance b/d 4,400 | Salaries 18,200
Subscriptions 46,100 | Rent 15,000
Interest 2,500 | Printing and Stationery 7,300
Tournament 12,000 | Expenses on Charity 16,100
Fund Show
Donation 6,000 | Tournament Expenses 7,500
Donation for 20,000 | Investments Purchased 10,000
Building
Receipt from 5,200 | Furniture 6,000
advertisement in
the year book

Balance c/d 16,100
Total 96,200 96,200

Subscriptions ontstanding on 315t March 2020 were ¥4,500 and Investments

valued ¥ 15,000. Prepare Inocme and Expenditure A/c for the year ended 31t

March, 2020 depreciates furniture by 10%.

(A) < sfear fafies 7 @) sfewr fofics @ #oi= widl | ) gfear fofacs @

A R fhar T or —
() 103 @ 10,000 T 372 B 20% & WHIA W SIRI TS |

[968]
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(i) 1000, 9% FoUH 5% & BE W UJdH & 100 TR I |
(i) o5 37,000 THT & gUC <N |

T @ @i &R Y g fafics &1 yam & forg 9 Sfear fafice & gra!

T gD AT Ufaftedr dy —

(B)

1 3¥id, 2019 &1 o€ fofics 9 5% & Wiffgd .k T100 & 10,000, 8% ZoTa=l
SRI f$Y, T 5 A1 & a1 10% & YRR WR YA1Y S 9ehd © | 3fmdad iR 1
IR <7 o | FRfHA &1 10,000 FoE &1 HMT 96 JIfa AfIeE far T en
IR I STTAgHT DI ATUIS ®U A de fBar a1 o | a¥ & SR Uinfd
WNem A &1 Sw Rl o= Seewm @ faw W@ e wmar @
Forad e @ forg e ufafted Sifs |

C India Ltd. purchased machinery from B India Ltd. Payment to B India Ltd.

was made as follows -

(i) By issuing 10,000 equity shares of ¥ 10 each at a premium of 20%.
(i) By issuing 1000, 9% debentures of X 100 each at a discount of 5%.
(iiiy Balance by giving bank draft of ¥ 37,000.

Pass necessary journal entries in the books of C India Ltd. for the purchase of

machinery and payment to B India Ltd. (3 marks)

(B)

[968]

On April 1, 2019 Z Ltd. Issued, 10,000 8% Debentures of ¥ 100 each at
premium of 5% to be redeemable at a premium of 10% after 5 years. The
entire amount was payable on application. The issue was oversubscribed
to the extent of 10,000 debentures and the allotment was made
proportionately to all the applicants. The securities premium amount has
not been utilized for any other purpose during the year. Give journal entries

for the issue of debenture. (3 marks)
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21. fI79 &R #e71 2:1 & gurd | & dfc aTel WEIER | e 2019 @I, I/ G,
T HATg<T T ARBRI, T2 I § a1 & SR U R @l fQy o, 31 1% H
1/4 & & foq Ua 9¢ 9rfieR & w9 # wicll axar | geird @afa & fog 60,000 3R
9ol & w9 9 50,0003 AT, Gl & U & G a9 3R A 3l doid oe 59

JhR o — ®)
LRI <R @) wufcrat wRr ®)
gofl @ SR 66,000
faTa 70,000 HATER 30,000
Ao 60,000 1,30,000 | fraer 40,000
AT T 18,000 | ¥R 46,000
d& T 18,000 | 3G 38,000
SREIR] 72,000 | (-) sfeser o @
foro graem 4,000 34,000
BE 22,000
Gyl 2,38,000 2,38,000
fferRad wxe &1 ol form m 2

() e & T H 10,000 ITH HHAT N |

(iy O @7 7@ 80,000 T BMT AR |

(i) <eRI # WA 3,000 IHT AR T LT N |

(iv) e fraer &1 a1 =1 of foram &R 2w &1 Hou 25,000 T o7 |

qHedIdh QI AISIaRT BT Yol Wl 9l Yeifed BH &1 Joid g3 a1y |

T

[968] Page 17 of 32



31 A/, 2020 ®I i1, Plgctl AR M ST HAT: 3:3:4 & U H ™ qic B 9,

BT doiF e 39 bR o —

<A T @) wafcrt R ®)

EGIEI] RIG) 18,000
SIEi} 10,000 eforn 14,500
EIE) 12,000 ENIEN] 9,000
LAt 4,000 26,000 | fafqy 7R 16,000
A Fa 11,000 | 9 3R 9o 16,000
AR wfasy e 7,000 | 9@ 25,500
o7 24,000 | fasmua i W@rat 5,000
TR SATERI 30,000

FHHARY erforgfcd de 6,000

L 1,04,000 1,04,000

9 91 WR WAl 941 b g 1 31l 2020 &1 FrefalRad e & AR BH 4 T
frg<T 81T —

(1)

B B ARG BT JAIHA [UGel IR auf & e o™ & Fd & dF A1 DI
e R o o1 21 fUse IR ani &1 @™ 30,000%, 80,0003, 12,000%,

14,0002 21, ARG WAl Ael a1 ST 2 |

Tefer &1 Jeg 13,500 ¥ W BT 41T |

A IR w9 BT TTEHeAIDHT 24,000 % 3R AR &1 60,0003 W AT ST
g

fafder TTRRI W 5% &1 &R 9§ Hferd Foli &1 Uraer= fHar S ¢ |

400 & ORI ¥ WA U @1 9 BT T <A1 BT A folRdl ST & |

g WIdT, ATSERI &1 Yol WAl d4T o 95 184 |

[968]
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Vinay and Madan were partners sharing profits in the ratio of 2:1. On 15t April
2019, they admitted Sunil, a retired army officer who had lost his legs while
servicing in army, as a new partner for 1/4 share in profits. Sunil will bring ¥ 60,000
for Goodwill and ¥ 50,000 as capital. At the time of admission of Sunil, the Balance

Sheet of Vinay and Madan was as under —

Liabilities Amount %) | Assets Amount (%)
Capital accounts Plant 66,000
Vinay 70,000 Furniture 30,000
Madan 60,000 1,30,000 | Investment 40,000
Stock 46,000
General Reserve 18,000 | Debtors 38,000
Bank Loan 18,000 | Less PBD - 4,000 34,000
Creditors 72,000 | Cash 22,000
Total 2,38,000 | Total 2,38,000

It was decided to -

(i)  Reduce the value of stock by ¥ 10,000.

(i)  Plant to be valued at ¥ 80,000.

(iii)  An amount of ¥ 3,000 included in creditors was not payable.

(iv) Half of the investment were taken over by Vinay and remaining were valued
at ¥25,000.

Prepare revaluation account, partners’ capital account and Balance sheet of the

reconstituted firm.

OR
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The balance sheet of Dhoni, Kohli and Ganguli who were sharing profit in the ratio

of 3:3:4 respectively, as on 315t March 2020 was as under —

Liabilities Amount (X) | Assets Amount X)
Capital Accounts Goodwill 18,000
Dhoni 10,000 Stock 14,500
Kohli 12,000 Machinery 9,000
Ganguli 4,000 26,000 | Sundry Debtors 16,000
General Reserve 11,000 | Land and Building 16,000
Employees provident fund 7,000 | Bank 25,500
Loan 24,000 | Advertisement

Trade Creditors 30,000 | Suspense Alc 5,000
Workmen compensation 6,000

reserve

Total 1,04,000 | Total 1,04,000

It was agreed that Dhoni shall retire on 15t April 2020 as per the following
condition-

(a)

Goodwill of the firm is to be valued at three years purchase of the average
of annual profits of the last four years. The profits for the preceding four
years were X 30,000, ¥ 80,000, ¥ 12,000, X 14,000, no goodwill account is to
be raised.

Stock is agreed to be valued at ¥ 13,500.

Land and Building are to be revalued at ¥24,000 and machinery at

% 60,000.
Provision for doubtful debts at 5% on sundry debtors is to be created.

An unclaimed liability included in creditors of ¥ 400 is to be written back.

Prepare Revaluation Account, Partners’ capital account and Balance Sheet.

[968]
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22.

IR s @1 2,00,00 T a1 S1feipd goll & AT Usilgd fdbar Tr g, 5/ 100 &
2000 I=RT # fauifora fear 1 2, 594 | 1000 IRRT &7 Fraeie Aedl & fo1g

50 I UM TR & WHAIH R AR 9 2 3ded — 30 % ; amdeq 703 (i

afgd), ugell did 203 3ife| Iraem 30. 2000 30 & oy s ured gy o+ o

500 372l & oIy 3Mde RAIPHd B AT AT | AW JAMdEH! BT UY—ITeT AR W 1000

IR 3Irdfed fby U o | faRed 3mdea V¥ &Y afded Wid d EiaRd ®x fear

T |

200 3 & gRE Aled BT BIEHR Sl TG R 3R YT ATe=T1 R BT YA B

H fawd <8, |l g e uTeT gU | S9d WIRT BT 918 H Sfed $HR (oAl AT 3R &R
B 60 UM WR W 703 & PIAM & wU H R F IR fam a1 | 3ifcH diar andt
b el Bl g © | Siiel gfaftedl Repfs o |

a1

(A) TF fafics 7 100 9 & 2,000 IR SIRT fHT | 200 IR ®F BIEHR 0T R

dhad 90 U UTKT 8T o, S BISHY ART UHAT UTKT 37T | 9 IRT Bl T B
foram 1 SR S7ed fbY ¢ RRT H ¥ 100 WRI BT G TRE A GIAE & w/a H

80 ¥ UdH WR R A SN fbar a7 | 2RI & FHUSROT 3R YAFTH & fory

AR RASTARTET FiAfeed DY | (4) 3
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[968]

fa=ties faeRor Tl U am S

0 | |
...................................... 5
...................................... 9

(10 39 uA® @ 1000 3 BT STad
HR foram TaT, 8 U B HAT BT TE
519 IR 2 39 @I Irde Wi iR 3

SO B YgCll Pict YT Tl 83 )

T Y S
................................................... 4q
................................................... q

(1000 =T fy 71T 2RR 11 T9 ufd
WR W P TWE A A b w4
i ¥ 9’ fhy 1Y)
Y T |
................................................... 4q

(Gl iR gAfE W o™ Yol
RIS W # i)
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R Ltd has been registered with an authorized capital of ¥2,00,000 divided into
2000 shares of X100 each of which 1000 shares were offered for public
subscription at a premium of I 50 per share payable as under: Application - ¥ 30;
Allotment X 70 (including premium): First call ¥ 20; Final call ¥ 30. Applications
were received for 2000 shares of which applications for 500 shares were rejected.
The rest of the applications were allotted 1000 shares on a pro-rata basis. Excess
application money was transferred to a share allotment account.

All money was duly received except from Mohan, holder of 200 shares, who failed
to pay allotment money and first call money. His shares were later on forfeited
and reissued to Hari at ¥ 60 per share as X 70 paid up. Final call is not yet made.

Record journal entries.

OR

(@) N Ltd. issued 2,000 shares of 100 each. All the money was received
except on 200 shares on which only ¥ 90 were received. These shares were
forfeited and out of the forfeited shares, 100 shares were reissued at X 80

each as fully paid up. Pass necessary journal entries for the forfeiture and

reissue of shares. (4 marks)
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(b) Complete the following Entries. (4 marks)

Date

Particulars

Credit

(i)

............................................... Dr.

(Being the forfeiture of 1000 shares of ¥ 10 each¥ 8
called up, on which allotment money of ¥ 2 and First

call of ¥ 3 has not been received)

(Being gain on forfeiture and reissue of shares

transferred to Capital Reserve Account)

(L I Dr.| ..cc.....
TO i
TO v .
(Being reissue of 1000 forfeited shares fully paid up
atZ 11 per share )
{ii) |eeer. R XL Dri.........

[968]
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©ug — §/ PART -B
ORI faaxon o1 fageryor
ANALYSIS OF FINANCIAL STATEMENTS

el T
gfaacy 3R <gar 31-3-2019 (%) 31-3-2020 (3)
10% o= 2,00,000 1,60,000

JfRed TSR —

FOOH TR TS BT YA AeTAT¥d AER R YJP 99 30 Rdar iR 31 7719 @
BT ST €1 30 Rycdar 2019 ST S 0TU= BT YA 1T |

31 A1 2020 P IR AHT yarg fqavor & fog fa<ig wfafafd # fras ¥ (Swiaa
SFHRY | H&fd) g Sg?

(A) df¥aiz 40,0003

(B) <ofdaie 42,000%

(C) dfzatg 58,000 %

(D) dfzai® 64,000%

Balance Sheet (Extract)
Equity and liabilities 31-3-2019 () 31-3-2020 (R)
10% Debentures 2,00,000 1,60,000

Additional Information —

Interest on debentures is paid on half yearly basis on 30" September and 315t
March each year. Debentures were redeemed on 30" September 2019.

How much amount (related to above information) will be shown in Financing
Activity for Cash Flow Statement prepared on 315t March 20207?

(A) Outflow ¥ 40,000

(B) Inflow %42,000
(C) Outflow ¥ 58,000
(D) Outflow ¥ 64,000
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24. What will be the current ratio of a company whose Net Working Capital is equal
to current liability? (1)
I BUYHT BT =T AU FT BT e g8 BRI Yoll gaar gdl & aRIER 87

25. fr=foRad § 9 59 d9-—<9 & URUIFRAGSY 7 A1 6 YdT8 8N 3R A1 & Adal

3R b FHAGHAT BT dfgaie NP (1)

(A) 3RS SR HRAT

(B) 99 AR SR Al

(C) =FUI9a &l A

(D) <MUR WITAT 99t 1 T

Which of the following transactions would result in neither cash inflow nor outflow
of cash and cash equivalents?

(A) Issue of share capital

(B) Issue of bonus shares

(C) Redemption of debentures

(D) Trade receivable realized

26. foxi fazeyor & foru we9 3ifde SuanT féy oM arel UyaoR € — (1)

(A)  olrHSD faaxo
(B) MM IMMHR fdaxor

(C) =T Irgurd
(D) SWRIad

The most commonly used tools for financial analysis are -
(A) Comparative Statements

(B) Common Size Statements
(C) Accounting Ratios
(D)

D) All of the above
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27. Harad | Ioid 4,00,000 T, HaTed W IORA B ARTT AT 9 Xoid BT 60%
gReETer @R 30,000 3 3R SRR BT X 40% & | B gwEr o a1 <y @ e (1)
A) 64,000%
C
D

(A)

(B) 78,000%
(C) 52,000%

(D) 96,000 %

Revenue from operations I 4,00,000, cost of revenue from operations 60% of
revenue from operations, operating expenses I 30,000 and rate of income tax is
40%. What will be the amount of profit after tax?

A) 64,000

w

C
D

(A)

(B) 78,000
(C) 52,000
(D)

%96, 000

28. UG W gl o 9,00,000 T ; WAt 9 Adha Ioid 3,00,000 %5 &R 1,00,000

%, ur fda 20,000 3 ; ATUR YT 3f7ae U1 BT — (1)
(A) 5 Tz

(B) 6 crz=

(C) 7.5 Tz

(D) 9 Tz

Total revenue from operations ¥9,00,000. Cash revenue from operations

3 3,00,000. Debtors X 1,00,000, B/R ¥ 20,000. Trade Receivables Turnover Ratio

will be -

(A) 5 Times

(B) 6 Times
(C) 7.5Times
(D)

D) 9 Times
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29.

30.

A U B — (1)

(A) AT U

(B) TR 1 3rguTd
(C) fopameierr srgum

(D) <ImHYSAT IrUTd

Current ratio is -

(A) Solvency Ratio

(B) Liquidity ratio

(C) Activity Ratio

(D) Profitability Ratio

feriforRad ST A, Yeferar aimad Srgurd B TOAT BY — (3)

AT | Yo 16,00,000
3T <Efaam 2,20,000 % ; Al BN U 5%

T

Sitg fotfice @ fa<ii faaron 9§ g Fe=ifetRad fdeRen & 1ot davst SuTd @1 IToET
N _

P} g Y o™ 1,20,000 X

(N

T 29T 20,00,000%

12% ST
PR Dl R 40%

From the following information, calculate Inventory Turnover Ratio.
Revenue from Operations % 16,00,000.

Average Inventory X 2,20,000; Gross Loss Ratio 5%.
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31.

OR
From the following details obtained from the financial statements of Jeev Ltd.,
calculate Interest Coverage Ratio.
Net Profit after tax ¥ 1,20,000.
12% Long — term Debt ¥ 20,00,000.
Tax Ratio 40%.

g fofAcs &1 g&ael 9 ure F=faRad gaamei &1 deraar | 31.03.2020 &1 91w

9y & oY Ta oD 3 fIaRoT IR HIFT | @)
31.03.2019 () 31.03.2020 (%)

NEIGEECINIVES 34,00,000 75,00,000

3 I 3,00,000 1,50,000

HHANT A T Bl IO DT 60% Bl IO DT 60%

R @9 HHANI A T BT 10% | HHART ™ T BT 10%
SIRGEN 50% 40%

g7

(A) BUT fRRm 2013 B1 FENET g Il 91T | & JgaR F=fetRad Al &l
fq wg ¥ve ok Sweiive & T8d HUl & Joid U= H @1 SIY? (2 3id)
(i) gt =
(i) dF<
(ili) et 3R
(iv) w@fy

(B) faxim fdeor ey @& fH=l T W & Seol@ DIV AT I WE
FHITY | (2 i)
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With the help of the following information obtained from the books of Raghu Ltd.

Prepare a Comparative Income statement for the year ended 31.03.2020.

31.03.2019 () 31.03.2020 (X)

Revenue from operation 34,00,000 75,00,000
Other income 3,00,000 1,50,000
Employee benefit | 60% of total Revenue | 60% of Total Revenue
expenses
Operating expenses 10% of Employee 10% of Employee

benefit expenses benefit expenses
Income tax 50% 40%

OR

(@) Under which Major headings and sub headings will the following items be
placed in the balance sheet of a company as per Revised schedule Il Part
| of the Companies Act, 20137 (2 Marks)

(i) Capital Reserves
(i) Bonds

(iii) Loose Tools

(iv) Goodwill

(b) State and explain any two objectives of Financial Statement Analysis.

(2 Marks)
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32. ffeiRed o o3 A Adbs YdIE HAF IR DY —
faaxor e [ 31 @ 2020 | 31 @ 2019
= ®) ®)
. gfaadt &R IR
(1) oEERe e
(@) e goit 6,00,000 5,00,000
(YISERICISIRER] 1 4,00,000 2,00,000
(2) @y ST
AR 2 2,80,000 1,80,000
el 12,80,000 8,80,000
Il.  oR&uRm
(1) iR fﬂqﬂ‘:ﬂ%ﬂ'{ :
(a) Rer |uRy
() Eog SR 7T 5,00,000 3,00,000
(2) e O
(a) =i 1,00,000 1,50,000
(b) =R w= 6,00,000 4,00,000
(c) VFS TIPS Teu 80,000 30,000
ol 12,80,000 8,80,000
@l & forg Ale —
faraxor 31-03-2020 ) | 31-03-2019 R)
(1) g iR erfera:
ARy (e &R 'R @ 4,00,000 2,00,000
faaor # 2)
JTfRad SITFHRI

(i) 50,000 Y&IPH Heg dTell U YR H-RT DI 60,000 TH =1 7T o7 |
(i) a¥ & IRE AR Ry fBar a1 eagrEd 30,000 T o |

[968]

Page 31 of 32

®)



Prepare a cash flow statement from the following balance sheet —

Particulars Note 31st March 31st March
No. 2020 (%) 2019 R)

l. EQUITY AND LIABILITIES
(1) Shareholders Funds

(@) Share Capital 6,00,000 5,00,000
(b) Reserve and 1 4,00,000 2,00,000
Surplus
(2) Current Liabilities
Trade payables 2,80,000 1,80,000
Total 12,80,000 8,80,000
Il. Assets

(1) Non current assets:
(a) Fixed assets

() Plantand 50,00,000 3,00,000
machinery

(2) Current assets:

(@) Inventories 1,00,000 1,50,000
(b) Trade 6,00,000 4,00,000
receivables
() Cash and cash 80,000 30,000
equivalents
Total 12,80,000 8,80,000

Notes to accounts :

Particulars 31-03-2020 X) | 31-03-2019 )

1.  Reserve and Surplus 4,00,000 2,00,000
Surplus (Balance in statement of

Profit and Loss)

Additional information :
(i)  Anold machinery having a book value of ¥ 50,000 was sold for ¥ 60,000.
(i)  Depreciation provided on machinery during the year was ¥ 30,000.
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